SSC JE 2023 Oct 9 Shift 2 Mechanical Question Paper with Answers

RollNumber

CandidateName

VenueName

ExamDate 09/10/2023

ExamTime 1:00PM-3:00PM

Subject JuniorEngineer2023MechanicalPaperl

Section:GenerallntelligenceandReasoning

Q.1Selectthecombinationoflettersthatwhensequentiallyplacedintheblanksofthegivenseries,w
illcompletetheseries.
L_M_NL_N_M_L_N_MN_L_M_NLA
ns 1.NMLMNLMLNM o
25 2. NMMLNLLMNM

53, NMLMLNMLNL

x4. MNLMNLMLNM

Question|D:264330144518
Option1ID:264330566329
Option2ID:264330566328
Option3ID:264330566330
Option4ID:264330566327

Status:Answered
ChosenOption: 1

Arrangethefollowingwordsinalogicalandmeaningfulorder.

1. germinate

2. sapling

3. seed

4. seedling

5. tree

Ans  1.4,2,1,3,5 X
<2.3,1,2,4,5
3.3,1,4,2,5
#$4.3,4,2,5,1

QuestionlD:26433076672
Option11D:264330300755
Option21D:264330300753
Option31D:264330300754
Option4ID:264330300752

Status:Answered
ChosenOption: 1
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Q.3Whichofthefollowingnumberswillreplacethequestionmark(?)
inthegivenseries?30,35,29,7,28,37

Ans  X1.34
x2.33

o3.36
X4.35

QuestionID:26433091643
Option1ID:264330359939
Option2ID:264330359940
Option3ID:264330359937
Option4ID:264330359938

Status:Answered

ChosenOption:3

Q.4 Inacertaincodelanguage,“SPYHiscodedas“1714236”and“CFOG’iscodedas“14 135" .How
wilFQTNP becoded inthatlanguage?

Ans  #51.14191314
X2.15171114

«#3.15181214
X4.13191314

Questionl|D:264330132248
Option1ID:264330518089
Option2ID:264330518088
Option3ID:264330518090
Option4ID:264330518087

Status:Answered

ChosenOption:3

Q.5Ritu starts from point A and drive s 9 km towards South. From he re , shetake s a le ftturn
and drive s 8 km. She the n take s a le ft turn, drive s 3 km, turns le ft and drive s 12km.
Finally, shetake s a right turn, drive s 6 km and stops at point B. How far and
inwhichdirectionispointBfrompointA?

Ans <
5 1.4kmtowardsEast
«#2.2kmtowardsEast
5 3.4kmtowardsWest

4.2kmtowardsWest

QuestionlD:264330132003
Option11D:264330517109
Option21D:264330517107
Option31D:264330517110
Option4ID:264330517108

Status:Answered

ChosenOption: 1




Q.6Selectthenumberfromamongthegivenoptionsthatcanreplacethequestionmark(?)inthefollowin
gseries.
13,29,34,71,76,155,160,?

Ans  £1.333
X2.322
X3.332
4323

QuestionID:26433078930
Option1ID:264330309735
Option2ID:264330309734
Option3ID:264330309732
Option4ID:264330309733

Status:Answered
ChosenOption:4

Q.7
Selecttheoptionthatisrelatedtothethirdterminthesamewayasthesecondtermisrelatedtothefirs

ttermandthesixthtermisrelatedtothefifthterm.
23:536::21:?::18:331

Ans  #1.484
X 2.444
w#3.448
754,488

QuestionlD:26433078937
Option1ID:264330309760
Option2ID:264330309762
Option3ID:264330309761
Option4ID:264330309763

Status:Answered

ChosenOption:3
CHOSeRTPHORS

Q.8Selectthecorrectcombinationof
mathematicalsignstosequentiallyreplacethe*signsandbalancethegivenequation.
17 *712*6*2= 119

Ans  X1-x:+ X
2.+%x—+

o 3.x— 2+

K4 +ax-

QuestionlD:26433068112
Option1ID:264330266960
Option2ID:264330266962
Option3ID:264330266963
Option4ID:264330266961

Not Atte mpte

Status: dandMarkedForReview

ChosenOption:--




aningfulorder.

1. Bicycle

2. Car

3. Train

4. Auto-rickshaw
5. Bus

Ans «#1.1,4,25,3
#52.41,2,3,5
53.4,5,2,3,1

54.4,2,3,5,1

AYIN,BWLM,DUOL,? KQUJAns
«”1.GSRK

2 2.GTRL
3. HSQM
24 HTSL

tibutlessthanPari.Siyaisnotthehighestscorer.

Whohasscoredtheleastmarks?
Ans  X1.Pari

2. Siya
3. Amita
K 4. Jeet

Q.9Selectthecorrectoptionthatindicatesthearrangementofthefollowingwordsina logicalandme

Questionl|D:264330131977
Option1ID:264330517003
Option2ID:264330517004
Option3ID:264330517006
Option4ID:264330517005

Status:Answered

ChosenOption: 1

\

Q.10 Whichletter-clusterwill replacethequestionmark(?) tocompletethegivenseries?

QuestionlD:264330144505
Option11D:264330566277
Option2ID:264330566275
Option3ID:264330566278
Option4ID:264330566276

Status:Answered
ChosenOption: 1

\

Q.11Each of theseve n frie nds, Kirti, Siya, Amita, Pre e ti, De e pika, Je e t and Pari, has score
ddiffe re nt marksin an e xam.Pari hasscore d morethan Kirti but le ssthan Siya.De e pikahas
score d le ss than Pre e ti but more than Amita. Kirti has score d more than Pre e

Questionl|D:264330144633
Option11D:264330566789
Option2ID:264330566787
Option31D:264330566788
Option4ID:264330566790

Status:Answered
ChosenOption:3




Q.12Selecttheoptionthatisrelatedtothethirdterminthesamewayasthesecondtermisrelatedtothefirstt
ermandthesixthtermisrelatedtothefifthterm.
27:95:11:7::9:23

Ans  X1.27
2.3
X3.25
X4.34

QuestionlD:26433012604 1
Option1ID:264330493836
Option2ID:264330493838
Option3ID:264330493839
Option4ID:264330493837

Status:Answered

ChosenOption:2

Q.13Selecttheoptionfigurewhichisembeddedinthegivenfigureasitspart(rotationisNOTallowed).

Ans

x3.

IS B2

UESLIONIV. £0409U 144 /90
Option11D:264330567438
Option2ID:264330567435
Option31D:264330567437
Option4ID:264330567436

Status:Answered

ChosenOption:3




Q.14 Twostate me ntsaregive n followe d by twoconclusionsnumbe re d | and Il. Assumingthe state
me nts to be true , eve n if they se e m to be at variance with commonly
knownfacts,decidewhichoftheconclusionslogicallyfollow(s)fromthestatements.

Statements:
Allnovelsaretextbooks.
Nonewspaperisatextbook.

Conclusions:
I. Nonovelisanewspaper.
II.At le ast somete xtbooks arenove

Is.Ans  # 1. Bothconclusionsl andlifollow

#52. Onlyconclusionlifollows
#5 3. NeitherconclusionInorlifollows

75 4.0nlyconclusionlfollows

QuestionID: 264330144659
Option1ID:264330566893
Option2ID:264330566892
Option3ID:264330566894
Option4ID:264330566891

Status:Answered

ChosenOption:4




Q.15 Select the figure from the options that can replace the question mark (?) and
complete the pattern.

<

Ans
x1.
2. C ‘J 7
\4\‘_—{# s
x3.
x4,

QuestionlD:26433068401
Option11D:264330268117
Option21D:264330268119
Option31D:264330268116
Option4ID:264330268118

Status:Answered
ChosenOption:2




thesamelogic?
Ans <
X 1.YEN
X 2.2E0

3. AEN

Q.16* DHL' is re late d to * JLN’ in a ce rtain way base d on the English alphabe tical orde r. In
thesame way, ‘* MAC' is re late d to * SEE’. Which of the following is re late d to * FIP’ using

4. ZEN

Questionl|D:264330144610
Option1ID:264330566695
Option2ID:264330566697
Option3ID:264330566696
Option4ID:264330566698

Status:NotAnswered

Q.17Peterdepartsfromhishomeandwalks 10mtowardsnorthandthenturnsright andwalks 36 m.
Heturns le ft and walks 5 m. Now heturns le ft again and walks 25 m andstops. A poleis
place d e xactly 15 m south from whe reheis standing. How far and inwhich dire ction is
his housefrom thepole ? (Assuming that all turns are90 de gre eturnsonly.)

Ans -X1.10m,east
A
¢2.21m,west
a-3.11m,west
~<

4.20m,east

ChosenOption:--

QuestionlD:264330129765
Option1ID:264330508294
Option2ID:264330508293
Option3ID:264330508291
Option4ID:264330508292

Status:Answered

ChosenOption:3

Q.18Se le ct these t in which thenumbe rs arere late d in thesameway as arethenumbe
rsofthefollowingset.
(NOTE: Ope rationsshouldbepe rforme donthewholenumbe rs, without bre akingdown
thenumbe rs intoits constitue nt digits. E.g., 13 Ope rations on 13 such
asadding/subtraction/multiplying e tc. to13 can bepe rforme d. Bre aking down 13
intoland3andthenperformingmathematicaloperationson1 and3 isnotallowed)

(8,4,6)

(13,9,10)
A &1.3,11 2
ns ,?S( )

><z.(2,10,1)
3.(6,42,4)
w4.(7,4,5)

Question|D:264330144443
Option11D:264330566029
Option21D:264330566030
Option31D:264330566027
Option4ID:264330566028

Status:Answered

ChosenOption:4




Q.19Inacertaincodelanguage,'MARKET'iscodedas'94',and'SHOP'iscodedas'50". Howwil'ITEMS'b
ecodedinthatlanguage?

Ans  X1.144
X 2.61

o3.69
X4.66

Questionl|D:264330144601
Option1ID:264330566659
Option2ID:264330566662
Option3ID:264330566660
Option4ID:264330566661

Status:NotAnswered
ChosenOption:--

Q.20Selecttheoptioninwhichthegivenfigureisembedded(rotationisNOTallowed).

P
o
1@

x4 :I

Ans

Questionl|D:264330129542
Option11D:264330507535
Option21D:264330507536
Option31D:264330507537
Option4ID:264330507534

Status:Answered
ChosenOption: 1




Q.21Se le ct theoption that re pre se nts thecorre ct orde r of thegive n words as they
wouldappear inanEnglishdictionary.

1 -Ostracise
2.
Ossification3 -
Othe rwise4 -
Oste nsible5-
Ostrich
Ans  2$1.2,4,5,1,3
«#2.2,415,3
£3.2,1,5,4,3
£4.2,1,453
Questionl|D:264330122428
Option11D:264330479837
Option21D:264330479836
Option31D:264330479838
Option4ID:264330479835
Status:Answered
k. fav e T ko) 7
ChosenOption:2
Q.22[f'x'means'-','+'means'+,'-"means'+', "'+ means'x', the n what will be the corre

ctanswerofthefollowingrelation?
375-25+3+ 5-5x2=7?

Ans  «#1.16
X2.15
%3.20
X4.18

QuestionlD:264330130215
Option1ID:264330509972
Option2ID:264330509971
Option3ID:264330509974
Option4ID:264330509973

Status:Answered
ChosenOption: 1

Q.23Pointingtowardsa pe rsoninthephotograph, Kamla said, “ Heisthedaughte r’sbrothe rof my
husband’sfathe r Ashok. Ashok hasonly twochildre n. How isthepe rson in
thephotographrelatedtoKamla?

Ans  X1.Husband'ssister'sson
% 2.Husband
253, Husband'sbrother

254 Sister'shusband

QuestionlD:264330131047
Option11D:264330513302
Option21D:264330513299
Option3ID:264330513301
Option4ID:264330513300

Status:Answered

ChosenOption:3




Q24 Select the option that is embedded in the given figure (rotation is NOT allowed).

Ans

QuestionlD:26433058110
Option11D:264330227425
Option21D:264330227424
Option31D:264330227426
Option4ID:264330227427

Status:Answered
ChosenOption:3

Q.25Whichofthefollowingnumberswill replacethequestionmark(?)
inthegivenseries?212,213,215,219,7,243,275

Ans  X1.225
X2.237
X3.235
4.227

QuestionlD:26433096013
Option11D:264330376821
Option2ID:264330376823
Option3ID:264330376824
Option4ID:264330376822

Status:Answered
ChosenOption:4




Q.26SixstudentsE,F,G,H,landJaresittingaroundacirculartablefacingthecentre.Hisanimmediateneigh
bourofbothEandG. lissittingthirdtotheleftofG.Eissitting
se cond totheright of F.J isan imme diatene ighbourof both F and
G.WhoisimmediateneighbourofbothGandF?

Ans r 4
X1.E
2
X 3.

4.H

Questionl|D:264330144626
Option1ID:264330566759
Option2ID:264330566762
Option3ID:264330566760
Option4ID:264330566761

Status:Answered

ChosenOption:3

Q.27 Whichletter-clusterwill replacethequestionmark(?) tocompletethegivenseries?

CFWI,?,FHTK, llQL,MJMMAN
s Z1.D1Ul
Y
~ 2.DGVJ

<

a3 EGUI

<

4.EIUJ

QuestionlD:264330144497
Option11D:264330566243
Option2ID:264330566245
Option3ID:264330566244
Option4ID:264330566246

Status:NotAnswered
ChosenOption:--




Q.28Selectthefigurefromtheoptionsthatcanreplacethequestionmark(?)

Ans

andcompletethepattern.

2.

~<3.

QuestionlD:26433092790
Option11D:264330364452
Option21D:264330364450
Option3ID:264330364451
Option4ID:264330364449

Status:Answered
ChosenOption:2




M
Fb3yé6a

Ans LadAEMF
.oy EdI

1 99VEQqE
+a0AEdT

ritten inthatlanguage?
Ans  XK1.127

$2.119
w3.121
X 4.115

Q.31lf+'means‘-’,-

wingequation?
35+84x4-3+11="?
Ans  X1.83

X279

" 3.87
$4.94

Q.29 Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

QuestionID: 26433056961
Option1ID:264330222830
Option2ID:264330222829
Option3ID:264330222831
Option4ID:264330222828

Status:Answered
ChosenOption:2

Q.30Inacertaincodelanguage, ‘FALSE’iswrittenas'97°and‘MY TH’iswrittenas*46’.Howwil'lLEGEND’bew

QuestionlD:264330144548
Option1ID:264330566450
Option2ID:264330566449
Option3ID:264330566448
Option4ID:264330566447

Status:Answered
ChosenOption:3

‘means‘x’,‘x’means‘+’,*+’'means*+’,thenwhatwillcomeinplaceofthequestionmark(?)inthefollo

Questionl|D:264330126066
Option11D:264330493937
Option21D:264330493936
Option31D:264330493938
Option4ID:264330493939

Status:Answered

Chosen0®

tion-3
o

D
pPHoR=




Q.32If Adenotes * +, B de note s - x’, Cde note s * - and D de note s * +, the n what will
bethevalueofthefollowingequation?

90D121A11B10C90
Ans  #1.120

X2.100
«#3.110
X4.90

QuestionID:264330133254
Option1ID:264330522066
Option2ID:264330522065
Option3ID:264330522063
Option4ID:264330522064

Status:Answered

ChosenOption:3

Q.33Se le ct thecorre ct mirror imageof thegive n combination whe n themirror is place d atMN
asshownbelow.

L%

SEGFCZRG

N

X gASIEQIL

. DHXDAIE L
RN 19 IAC
+E X3 ad¢e

Ans

QuestionlD:264330144787
Option11D:264330567405
Option2ID:264330567404
Option3ID:264330567403
Option4ID:264330567406

Status:Answered
ChosenOption:3




Q.34Selectthesetinwhichthenumbersarerelatedinthesamewayasarethenumberso
fthefollowingset.

(NOTE:Operationsshouldbeperformedon thewholenumbers,without
breakingdown thenumbersinto its constituent digits. E.g.,13—
Operationsonl3suchasadding/subtracting/multiplyingetc.to
13canbeperformed.Breakingdownl13intoland3andthen
performingmathematicaloperationsonland3isnotallowed)

(5,2,121)

(4,3,55)
Ans  X1.(2,8,67)

#2.(4,2,60)
2%3.(6,8,91)
X4.3,1,9)

QuestionlD:264330144450
Option1ID:264330566057
Option2ID:264330566058
Option3ID:264330566056
Option4ID:264330566055

Status:Answered
ChosenOption:2

Q.35Whichofthefollowingtermswill replacethequestionmark(?)
inthegivenseries?XYZV,STUQ,?,IUKG,DEFB

Ans <
% 1.NOPM

«#2.NOPO

25 3.NOPL

4.NOPQ

QuestionlD:26433089474
Option1ID:264330351397
Option2ID:264330351400
Option3ID:264330351399
Option4ID:264330351398

. Status:Answered

ChosenOption:3

Q.36Inacertaincodelanguage,"”ABHORRENT iswrittenas*TNERROHBA"and
“CULINARY”iswrittenas*YRANILUC’.Howwil'lDELETTANTE”bewritteninthat
language?

Ans o
~<
1.ETNATTELED
2.ETNATTELDE
3. ELEDETANTT

4. EDELETTANT

Questionl|D:264330132326
Option11D:264330518401
Option2ID:264330518400
Option31D:264330518402
Option4ID:264330518399

Status:Answered

L ChosenOption: 1




Q.37 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

~<3.

Fant

QuestionlD:26433068177
Option1ID:264330267223
Option2ID:264330267222
Option3ID:264330267221
Option4ID:264330267220

Status:NotAnswered
ChosenOption:--




Q.38Select theoptionthat isrelatedtothethirdwordinthesameway asthesecondwordis re late d to
thefirst word. (Thewords must be conside re d as me aningful Englishwords and must not
be re late d to e ach othe r base d on the numbe r of le tte rs/numbe
rofconsonants/vowelsintheword)

Jaggery:Sugarcane:: Fabric:?
Ans X 1.Tailor
5 2. Suits

«3.Yarn
/< 4.Cloth

Questionl|D:264330144534
Option1ID:264330566392
Option2ID:264330566391
Option3ID:264330566393
Option4ID:264330566394

Status:Answered
ChosenOption:3

Q.39Sevenpeople,A,B,C,D,E,FandG,aresittinginastraightrow,facingnorth.Only 1personsitstothel
eftofD.AisanimmediateneighbourofD.Only2peoplesit
be twe e n F and D. Only 3 pe oplesit be twe e n Cand G. B is not an imme diatene
ighbourofG.Only2peoplesitbetween EandA.

Whositstotheimmediateright ofF?
Ans  X1.A

K 2.E
«"3.B
X4.C

QuestionlD:264330144643
Option1ID:264330566827
Option2ID:264330566829
Option3ID:264330566828
Option4ID:264330566830

Status:Answered
ChosenOption:3




Ans

Ans

Q.40Select theVenndiagramthat best illustratestherelationshipbetweenthefollowingclasses.

Tables,Cupboards,Furniture

1 Q@
@

QUEstionIDT264330144580
Option11D:264330566578
Option2ID:264330566577
Option31D:264330566575
Option4ID: 264330566576

Status:Answered

ChosenOption: 1

Q.41Se le ct the word-pair that be st re pre se nts a similar re lationship to the one e xpre sse

dinthepairofwordsgivenbelow.
(Thewordsmust beconside re dasme aningful Englishwordsandmust not bere late dto e ach
othe r base d on thenumbe r of le tte rs/numbe r of consonants/ vowe Is in theword.)

Denver:Colorado
X1 .Mysore:Karnataka

2. Canberra:Australia
3. Lucknow:UttarPradesh
/< 4.Delhi:India

QuestionlD:264330129755
Option11D:264330508253
Option21D:264330508254
Option3ID:264330508251
Option4ID:264330508252

Status:Answered

ChosenOption:3




www.prepp.in

Q42 How many triangles are there in the given figure?

Ans  K1.10
W#2.12
X3.14
X413

QuestionlD:26433068430
Option1ID:264330268232
Option2ID:264330268233
Option3ID:264330268234
Option4ID:264330268235

Status:Answered
ChosenOption: 1

Q.43Se le ct these t in which thenumbe rs arere late d in thesameway as arethenumbe
rsofthegiven set.
(NOTE: Ope rationsshouldbepe rforme donthewholenumbe rs, without bre akingdown
thenumbe rsintoitsconstitue nt digits. E.g. 13 - Ope rations on 13 such
asadding/subtracting/multiplyingetc.to13canbeperformed.Breakingdown13into1and3andt
henperformingmathematicaloperationson1and3 isnotallowed.)
(361, 49, 266)
(225, 36, 180)

Ans  #51.(49,620,300)
+#2.(289,16,136)
2$3.(12,36,48)

74.(256,64,160)

QuestionlD:26433079362
Option11D:264330311438
Option21D:264330311436
Option31D:264330311439
Option4ID:264330311437

Status:NotAnswered
ChosenOption:--



http://www.prepp.in/

www.prepp.in

Q.44Selecttheword-
pairinwhichthetwowordsarerelatedinthesamewayasarethetwowordsinthegivenpair.
(Thewordsmust beconside re dasme aningful Englishwordsandmust not bere late dto e ach
othe r base d on thenumbe r of le tte rs/nu mbe r of consonants/vowe Is in theword)
Salt:Sodium

Ans #1.Car: Petrol
«#2.Water:Hydrogen
/5 3.Leaves:Wood

5 4.Plant: Tree

QuestionlD:264330122544
Option11D:264330480301
Option2ID:264330480299
Option3ID:264330480302
Option4ID:264330480300

Status:Answered
ChosenOption:2

Q.45 Whichletter-clusterwill replacethequestionmark(?) tocompletethegivenseries?

ACAW,ELHA,IUOE,?,UMCMAns
7<1.PNOI

252, PMOI
«#3.0DVI
25 4.0NOI

QuestionlD:264330144627
Option1ID:264330566766
Option2ID:264330566764
Option3ID:264330566763
Option4ID: 264330566765

Status:Answered
ChosenOption:3

\

Q.46Se le ct theoption that re pre se nts thecorre ct orde r of thegive n words as they
wouldappear inanEnglishdictionary.

. Recession

. Rebuke

. Recognize

. Receive

. Recover

Ans 1.2,41,3,5

a s wnN =

<2.3,2,1,5,4
$3.5,4,1,3,2

43,4152

Question|D:264330132448
Option11D:264330518890
Option21D:264330518887
Option31D:264330518888
Option4ID:264330518889

Status:Answered
ChosenOption: 1
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Ans

Q.47If

Ans

*O " P’ me ans* O isthebrothe r of
P’,:O*P’means‘OisthemotherofP’,'O+P’
means‘Oisthehusbandof
P’ O@P'means‘OisthesisterofP’,:O=P’m
eans‘OisthesonofP’,and‘O %P’means*Oi
sthefatherofP’,
thenhowisSrelatedtoMthefollowingexpression?
S=G%H@E+F*M

#<1.Mother'sbrother

252.50n

/< 3.Father'sfather

«# 4.Father'sbrother

M
56fgWRS

N

x1. sambros
2 25T p1oz

3. esTWgioz
4. SAMSBIOS

\

QuestionlD:264330144523
Option1ID:264330566349
Option2ID:264330566347
Option3ID:264330566348
Option4ID:264330566350

Status:NotAnswered

ChosenOption:--

Q.48 Select the correct mirror image of the given combination when the mirror is placed at line MN as shown.

QuestionlD:26433058086
Option11D:264330227329
Option21D:264330227328
Option31D:264330227330
Option4ID:264330227331

Status:Answered
ChosenOption:3
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Q.49Se le ct the word-pair that be st re pre se nts a similar re lationship to the one e xpre sse din
thepair of words give n be low. (Thewords must be conside re d as me
aningfulEnglishwordsandmustnotberelatedtoeachotherbasedonthenumberof
letters/numbersofconsonants/vowelsinthe word)

Chaos:Peace

Ans  1.Deep:Intense
#52. Mourn:Deplore
4" 3. Gradual: Abrupt

/X 4.Generate:Produce

QuestionlD:264330144612
Option1ID:264330566704
Option2ID:264330566706
Option3ID:264330566703
Option4ID:264330566705

Status:Answered

ChosenOption:3

Q.50Select theoptionthat isrelatedtothethirdwordinthesameway asthesecondwordis re late d to
thefirst word. (Thewords must be conside re d as me aningful Englishwords and must not
be re late d to e ach othe r base d on the numbe r of le tte rs/numbe
rofconsonants/vowelsintheword)

Binocular:View::Spoon:?
Ans  1.Feedw#
252, Utensil
253. Fork

K 4.Food

QuestionlD:264330144528
Option1ID:264330566369
Option2ID:264330566367
Option3ID:264330566368
Option4ID:264330566370

Status:Answered

ChosenOption: 1

Section:GeneralAwareness

Q.1 WhatareGuyots?
Ans 1.ltisaflattoppedseamount. «#

75 2.Thesearedeepvalleys,somecomparabletotheGrandCanyon.
75 3.Itisamountainwithpointedsummits.

X4, These arelowislandsfoundinthetropicaloceansconsistingofcoralreefs.

Question|D:264330134910
Option11D:264330528576
Option21D:264330528575
Option31D:264330528578
Option4ID:264330528577

Status:Answered

ChosenOption:2
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Q.2Patayat Sahu, whowasconfe rre d thePadma Shri in theye ar 2023 by thePre side nt ofIndia
for his significant contribution in the fie Id of me dicinal plants in agriculture , isfrom

Ans o 1.0disha
2. WestBengal
25 3.Chhattisgarh

< 4.Jharkhand

QuestionIDT264330132582
Option1ID:264330519423
Option21D:264330519424
Option3ID:264330519425
Option4ID:264330519426

Status:NotAnswered
ChosenOption:--

\

Q.3TheSangeetNatakAkademigivesfellowshipstoeminentartists. GopikaVarmareceiveditforMo
hiniyattamwhichisadanceformofwhichstate?

Ans 1. Karnataka

#52.AndhraPradesh

#3.Kerala
25 4. TamilNadu
Questionl|D:26433064801
Option1ID:264330253797
Option2ID:264330253796
Option3ID:264330253799
Option4ID:264330253798
Status:NotAnswered
ChosenOption:--
Q.4WhichofthefollowingenergyresourcesisalsoknownasLiquidGold?Ans v
1. Petroleum

#52. NaturalGas
£53.Coal

< 4.Uranium

QuestionlD:26433071614
Option11D:264330280881
Option21D:264330280882
Option31D:264330280880
Option4ID:264330280883

Status:Answered
ChosenOption: 1
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Q.5What type of compound is forme d whe n one hydroge n atom in ammonia is substitute
dbyan alkyloraromaticgroup?

Ans  X'1.Secondaryamine
#52. Carboxylicacid
«# 3. Primaryamine

75 4.Ketonebody

Questionl|D:264330114122
Option11D:264330448574
Option2ID:264330448573
Option3ID:264330448575
Option4ID:264330448576

Status:Answered
ChosenOption:3

\

Q.6In June2022, who be camethefirst Indian to bere cognise d as theGlobal SustainableDeve
lopme nt Goal (SDG) Pione e r for wate r ste wardship by theUnite d Nations
GlobalCompact(UNGC)?

Ans 4
2% 1.RamkrishnaMukkavilli

< 2.RajendraSingh
75 3.AmlaRuia

4. AyyappaMasagi

QuestionlD:264330133015
Option1ID:264330521116
Option2ID:264330521117
Option3ID:264330521115
Option4ID:264330521118

Status:NotAnswered

ChosenOption:--
Q.7 WhichofthefollowingisassociatedwithAtoll?
Ans #51.Itismadeupoftwomountainchainsseparatedbyalargedepression
XZ. Lowislandsfoundinthetropicaloceansconsistingofcoralreefs
. _3.Itisaseamountwithaflattop

4, Oceanbasinswithgentlyslopingterrain

QuestionlD:264330131747
Option11D:264330516087
Option21D:264330516088
Option31D:264330516090
Option4ID:264330516089

Status:NotAnswered
ChosenOption:--
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Q.9

Ans

Ans

Ans

Q.8 InOctober2021,MUDRAToolboxwaslaunchedbythe
languages.

«”1.IndianCouncilofMedicalResearch (ICMR)
25 2.IndianCouncilofSocialScienceResearch(ICSSR)

2% 3.IndianCouncilofHistoricalResearch(ICHR)

X 4.IndianAgriculturalResearchinstitute(ICAR)

Match the column-A with column-B.

Column-A (Block Periodic Table)

a. s-block
b. p-block
c. d-block
d. f-block

1.a-iii,b-iv,c-ii,d-i
2.a-i,b-iii,c-ii,d-iv
w# 3.a-1v,b-iii, c-ii,d-i

4.a-1,b-ii, c-iii,d-iv

infivelndian

yuesuoniv:
Option1ID:
Option2ID:
Option3ID:
Option4ID:
Status:

ChosenOption:

20433U8L 198
264330325027
264330325025
264330325028
264330325026
Answered

1

Column-B (Elements)
i.La

ii. Cu

iii. Al

iv. Na

QuestionID:
Option1ID:
Option2ID:
Option3ID:
Option4ID:

Status:
ChosenOption:

264330131785
264330516242
264330516239
264330516240
264330516241
Answered

3

Q.10Whatdoesthe‘PrintRange’optionallowyoutodowhenprintingadocument?

X1 .Addheaderandfooterinformationtotheprintedpages

" 2. Choosethespecificpagesorrangeofpagestobeprinted

25 3.Adjustthesizeoftheprinteddocumenttofitonaspecificnumberofpages

X 4.Printthedocumentwithdifferentfontsand styles

QuestionID:
Option1ID:
Option2ID:
Option3ID:
Option4ID:

Status:
ChosenOption:

264330168600
264330661214
264330661212
264330661211
264330661213
NotAnswered
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Q.11WhoamongthefollowingattackedGujaratandplunderedtheSomnathTempleinthe11th
century?

Ans #251.AhmadShahAbdali
#<2. QutubuddinAibak
«# 3. M\ahmudofGhazni

25 4.MuhammadBinQasim

QuestionlID:26433089867
Option1ID:264330352946
Option2ID:264330352947
Option3ID:264330352948
Option4ID:264330352945

Status:Answered
ChosenOption:3

\

Q.12Towhichof thefollowing gharanasof musicdidUstadAmirKhan, a re nowne dvocalist, belong?
Ans  X1.Agra

X 2. Jaipur-Atrauli
75 3. Rangeela
" 4.Indore

QuestionlD: 26435066684
Option1ID:264330261262
Option2ID:264330261263
Option3ID:264330261260
Option4ID:264330261261

Status:NotAnswered
ChosenOption:--

Q.13AccordingtotheCentreforMonitoringlndianEconomy(CMIE),inwhichstateoflndiawastheunemploy
mentraterecordedas0.1%,asofSeptember2022?

Ans o
7<1.Chhattisgarh
xZ.TamilNadu
X3' MadhyaPradesh

4. Uttarakhand

QuestionlD:264330113297
Option11D:264330445275
Option2ID:264330445274
Option31D:264330445276
Option4ID:264330445273

Status:Answered
\ ChosenOption:2
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Ans  X'1.Nagarjunkonda
X 2. Amaravati
#3.Chaukhandi

X 4.Jagayyapetta

Q.15InwhichyearwastheTelevision(TV)servicestartedinindia? Ans
1.1968

&2.1959
3.1986
X4.1975

Q.16Electricfieldcanbedefinedas:

Ans X1.energyperunitcharge
5. forceperunitcurrent
25 3.energyperunitcurrent

«™4.forceperunitcharge

Q.14Whichof thefollowingBuddhistsitesisNOTfoundintheVengiregionofAndhraPradesh?

x

QuestionlD: 26435072648
Option1ID:264330284853
Option2ID:264330284852
Option3ID:264330284854
Option4ID:264330284855

Status:Answered
ChosenOption:4

Questionl|D:264330113277
Option1ID:264330445196
Option2ID:264330445193
Option3ID:264330445195
Option4ID:264330445194

Status:Answered

ChosenOption:3

QuestionlD:264330118016
Option11D:264330463881
Option21D:264330463880
Option31D:264330463879
Option4ID:264330463882

Status:Answered
ChosenOption:2
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Q.17WhendidBhagatSinghandBatukeshwarDuttthrowthebombsinsidetheCentralAssemblyin
Delhi?

Ans «”1.8April1929
#52.8January1929
23.8March1929 X
4.8May1929

QuestionID:264330111402
Option1ID:264330437695
Option2ID:264330437694
Option3ID:264330437696
Option4ID:264330437693

Status:Answered

ChosenOption:4

@18 Match the following columns.
Column-A Column-B
i. Fat a. Sugar
il. Protein b. Calcium and sodium
iii. Carbohydrate c¢. Amino acid
iv. Minerals d. Glycerol and fatty acid

Ans X 1.i-c,ii-d,iii-a,iv-b
252, i-b,ii-a,jii-d,iv-c
253.i-a,ii-b, fi-c,iv-d
o 4.i-d,ii-, ii-a,iv-b

QuestionlD:264330114131
Option1ID:264330448610
Option2ID:264330448611
Option3ID:264330448609
Option4ID:264330448612

Status:Answered
ChosenOption:4

Q.19AccordingtotheCensusoflndia2011,whatisthesexratioofDamanandDiu?Ans 1.618

X2.518

%3.818
X4.718

QuestionlD:264330119810

Option11D:264330469517
Option2ID:264330469518
Option31D:264330469515
Option4ID:264330469516
Status:Answered
ChosenOption:4
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Q.20Whichof
thefollowingadulterantsismixedwithsunfioweroilandsesameoiltoincreasetheirquantity ?

Ans  &'1.Mustardoil
X 2. Lentil oil
#53. Rhodamine

4 4.Argemoneoil

QuestionID:264330109935
Option11D:264330432017
Option2ID:264330432018
Option3ID:264330432020
Option4ID:264330432019

Status:Answered
ChosenOption: 1

Q.21WhichofthefollowingActsisregardedastheprecursortothelndianConstitution? Ans ~
1. GovernmentofindiaActof1909

#52. GovernmentofindiaActof1945
#53. GovernmentofindiaActof1919

«# 4.GovernmentofindiaActof1935

Questionl|D:264330112753
Option1ID:264330443097
Option2ID:264330443100
Option3ID:264330443098
Option4ID:264330443099

Status:Answered
ChosenOption:4

Q.22Which of thefollowing is thelarge st phylum of animalia?Ans
251.Mollusca

252.Annelida
/X 3.Chordata

«# 4.Arthropoda

QuestionlD:264330103805
Option1ID:264330407521
Option2ID:264330407524
Option31D:264330407522
Option4ID:264330407523

Status:Answered
ChosenOption:4
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Q.23NametheprojectwhichwaslaunchedfortacklingtheincreasingHIVprevalenceintheeightNorth-
Eastern states.

Ans #<1.MissionAware
25 2.MissionSampark
#3.ProjectSunrise

25 4.ProjectEmpower

QuestionID: 264330156920
Option1ID:264330615058
Option2ID:264330615056
Option3ID:264330615055
Option4ID:264330615057

Status:NotAnswered
ChosenOption:--

Q.24Theboundarylineseparatingonedrainagebasinfromanotheriscalled
Ans <

X 1.terrace

/5 2.floodplain

+#3.peneplain

4. watershed

QuestionlD:26433055322
Option1ID:264330216272
Option2ID:264330216275
Option3ID:264330216274
Option4ID:264330216273

L Status:Answered

ChosenOption:2
Q.25Whichofthefollowingmeasuresofmoneysupplyisconsideredmostliquid?Ans

%1 M2

XZ.M4
j.M3

4. M1

QuestionlD:26433092379
Option11D:264330362806
Option21D:264330362808
Option31D:264330362807
Option4ID:264330362805

Status:NotAnswered
ChosenOption:--
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Q.26Thefirst Bose -Einste inConde nsate(BEC) madeof whichatomwasre porte dby
theteamofEricCornellandCarlWieman in 1995?

Ans  #1.87Rb
X2."%7¢s
x3.9%r X

4,228

QuestionID:264330141689
Option1ID:264330555075
Option2ID:264330555078
Option3ID:264330555077
Option4ID:264330555076

Status:Answered
ChosenOption:4

Q.27Which of the following is a type of shie Id volcano that is large (up to seve ral 1,000 mhigh
and 200 km across) but NOT ste e p (usually 2° to 10°) and the ir magma is
almostalwaysmafic?

Ans #<1.MountEtna,Sicily
#52.MountFuji,Japan
#3.Kilaueavolcano,Hawaii

X 4.Aguilera,Chile

Questionl|D:264330113790
Option1ID:264330447245
Option2ID:264330447246
Option3ID:264330447248
Option4ID:264330447247

Status:Answered
ChosenOption:2

Q.28Whe rewas India Housefounde d in theUK?Ans
251.Bristol

#2.London
75 3.Edinburgh
75 4.Manchester

QuestionlD:264330109048
Option11D:264330428471
Option21D:264330428469
Option31D:264330428472
Option4ID:264330428470

Status:NotAnswered
ChosenOption:--
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Ans

Ans

<
25 1.3100crore
«#2.3120crore
253.3160crore

4.%3140crore

25 1.MeenakshiSundaramPillaiandSavithaSastry
«#2.SujataMohapatraand MadhaviMudgal
75 3.MallikaSarabhaiandShobhaNaidu

25 4.AmalaShankarandSinghajitSingh

Q.31WhichofthefollowingisNOTincludedinfundamentalduties?Ans
1.Respectthenationalflagand thenationalanthem

«#2.Focusonpersonaldevelopmentandindividualactivitiesonly

75 3.Tovalueandpreservetherichheritageofourcompositeculture

Q.29What isthetotal outlay fore xte nde dpe riodof Compre he nsiveHandicraftsCluste
rDevelopmentScheme,which hasbeen extendedtillFY20267?

Q.30Se le ct thecorre ct pair of Indian classical dance rs of Odissi style

<

75 4.T oupholdandprotectthesovereignty,unityandintegrityofindia

QuestionID:264330156918
Option1ID:264330615047
Option2ID:264330615048
Option3ID:264330615050
Option4ID:264330615049

Status:NotAnswered
ChosenOption:--

QuestionID:264330130516
Option1ID:264330511178
Option2ID:264330511176
Option3ID:264330511177
Option4ID:264330511175

Status:NotAnswered
ChosenOption:--

QuestionlD:264330118533
Option11D:264330465533
Option2ID:264330465536
Option31D:264330465535
Option4ID:264330465534

Status:Answered
ChosenOption:2
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Q.32 Presidentofindia,DroupadiMurmumetPresidentofRepublicofSuriname,
onthesidelinesofthe17thPravasiBharatiyaDivasConventionatindore,MadhyaPrad
esh on 10January2023.

Ans 75 1.JohanKraag
/5 2.RonaldVenitiaan
75 3.DesiBouterse

«# 4.ChandrikaprasadSantokhi

QuestionID:264330132578
Option1ID:264330519410
Option2ID:264330519409
Option3ID:264330519408
Option4ID:264330519407

Status:Answered
ChosenOption:2

Q.33Howarere source sdivide donthebasisof statusof deve lopme nt?Ans
5 1.Bioticandabiotic

75 2.Renewableandnon-renewable
3. Potential,developedstockandreserves

4. Individual,community,nationalandinternational

Questionl|D:26433086757
Option11D:264330340671
Option2ID:264330340670
Option3ID:264330340669
Option4ID:264330340672

Status:Answered
ChosenOption:3

Q.34PanditShambhuMaharajisarenowned dancer.
Ans <
X 1.Sattriya

#2.0dissi
75 3.Kathak

4.Kuchipudi

QuestionlD:26433082118
Option11D:264330322306
Option21D:264330322305
Option31D:264330322307
Option4ID:264330322308

Status:NotAnswered

\ ChosenOption:--
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Q.35Whichof thefollowingisanintermediategoodsindustry?Ans
/< 1.ManufacturingofCars

w#2.Manufacturingoftools

/X 3.Manufacturingofplantsandmachineries

X 4.Manufacturingofrefrigerators

QuestionID:264330144395
Option1ID:264330565835
Option2ID:264330565837
Option3ID:264330565838
Option4ID:264330565836

Status:NotAnswered
ChosenOption:--

Q.36 TheManusmrti,oneofthebest-knownlegal textsofearlyIndia,iswrittenin .

Ans 1. Pali
#2.Sanskrit
5 3.Hindi
X 4. Prakrit
QuestionID:264330111370
Option1ID:264330437566
Option2ID:264330437568
Option3ID:264330437565
Option4lID:264330437567
Status:NotAnswered
ChosenOption:--
Q.37WhichofthefollowingitemsmayNOTbetreatedasanintermediarygood?Ans X

1. Maidaproducedina flourmill
/X 2. Maidausedinabiscuitfactory
«# 3. Maidausedinahousetomakeparatha

75 4.Maidausedto producebreadinabakery

QuestionlD:264330111727
Option11D:264330438995
Option2ID:2643304 38994
Option31D:264330438993
Option4ID:2643304 38996

Status:NotAnswered
ChosenOption:--
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Q.38 Protectionof isthefundamentalduty ofanindiancitizen.

Ans #<1.holyscriptures
ZX 2.childrenandoldpeople
5 3.villages
o 4.wildlife

QuestionID:26433086793
Option1ID:264330340816
Option2ID:264330340814
Option3ID:264330340815
Option4ID:264330340813

Status:NotAnswered
ChosenOption:--

Q.39WhoamongthefollowingisNOTpartoftheG =~ oodsandServicesTaxCouncilofindia?Ans vy
1. LieutenantGovernorsofUnionTerritories

Z52.UnionFinanceMinister
253, UnionMinisterofStateinchargeofRevenueorFinance

75 4. TheMinisterin-chargeof
Financeofeachstateoranyotherministernominatedbystategovernment

Questionl|D:264330130463
Option1ID:264330510966
Option2ID:264330510965
Option3ID:264330510963
Option4ID:264330510964

Status:NotAnswered

ChosenOption:--

Q.40WhowastheGove rnor-Ge ne ral during theAnglo-Ne pal war?Ans
#1.LordAuckland

X 2.LordHardinge
25 3.LordWellesley
™. LordHastings

QuestionlD:264330112165
Option11D:264330440748
Option21D:264330440745
Option31D:264330440747
Option4ID:264330440746

Status:NotAnswered
ChosenOption:--
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Q.41In

Q.42

Ans

which city will the2024 Summe rOlympicGame sbehe Id?Ans
#<1.Beijing
25 2.Berlin

3. Paris
/X 4.Brisbane

QuestionID:264330119265

Option1ID:264330467348
Option21D:264330467347
Option3ID:264330467350
Option4ID:264330467349

Status:NotAnswered

ChosenOption:--

CentralAdministrativeTribunalbenchesexistall overindia,asof

December2022.

<117
216
«”3.19
54.18

Question|D:264330119678
Option1ID:264330468989
Option2ID:264330468990
Option3ID:264330468987
Option4ID:264330468988

Status:NotAnswered

ChosenOption:--

Q.43 AccordingtotheGlobalMultidimensionalPovertyIndex2022,

around peopleinindiaclimbedoutof povertybetween2005-06and2019-
21.

r
«#1.315million
25 2.415million

25.3.500million

4.450million

QuestionlD:264330157098
Option11D:264330615763
Option21D:264330615765
Option31D:264330615766
Option4ID:264330615764

Status:NotAnswered

ChosenOption:--
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Q.44 Whichofthefollowingisanexampleofahomeothermicanimal?

ChosenOption:

Ans  X'1.Salamander
/X 2.Cobra
75 3.Tortoise
«™.Penguin
QuestionID: 264330113319
Option1ID: 264330445363
Option2ID: 264330445364
Option3ID: 264330445361
Option4ID: 264330445362
Status: NotAnswered
ChosenOption: --
Q.45Inwhichofthefollowinggamesistheterm'header'associated?
Ans #51.Badminton
«# 2.Football
#53.Cricket
X 4.Hockey
QuestionID: 264330109734
Option1ID: 264330431216
Option2ID: 264330431214
Option3ID: 264330431215
Option4ID: 264330431213
Status: NotAnswered
ChosenOption: --
Q.46 Whichofthefollowingfactorsareresponsibleforspoilageofstoredfood?
Ans X1.Lowtemperatureandveryhighpressure
75 2.Hightemperatureandpressure
«3.Moistureandhumiditythatcanallowmicrobialgrowth
/X 4.Highsaltandspice content
QuestionlID: 264330109939
Option1ID: 264330432034
Option2ID: 264330432033
Option3ID: 264330432036
Option4ID: 264330432035
Status: NotAnswered
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Q.47Which of thefollowing factorsisa ge ographical factor that affe cts the distribution
ofthepopulationinindia?

Ans b
«#1.Industrialisation
5 2.Climate
25 3.Minerals

4.Urbanisation

QuestionID: 264330116480
Option1ID:264330458008
Option2ID:264330458005
Option3ID:264330458007
Option4ID:264330458006

Status:NotAnswered

Q.48Whatistheprimaryobjectiveofcybersecurity?Ans
25’1 .Toenhanceinternetconnectivity
XZ.Topreventunauthorisedaccessanddatabreaches
X3.Toprotectcomputersfromphysicaldamage

4.Tocreatenewsoftwareapplications

ChosenOption:--

Questionl|D:264330168583
Option1ID:264330661145
Option2ID:264330661144
Option3ID:264330661143
Option4ID:264330661146

Status:NotAnswered

Q.49What is thecorre ct se que nceof thezone s of a pond e cosyste m from thebottom totop?

Ans x1.Hypolimnion—Thermocline—Epilimnion

.2.Litoral-Thermocline-Epilimnion

<
<

3. Hypolimnion-Thermocline-Litoral

4.Epilimnion-Hypolimnion-Thermocline

ChosenOption:--

QuestionlD: 264330114129
Option11D:264330448603
Option2ID:264330448601
Option31D:264330448602
Option4ID:264330448604

Status:NotAnswered

ChosenOption:--
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X X¢ X

Section:GeneralEngineeringMechanical

Q.1The value of the gross stage e fficie ncy and Blade e ficie ncy of the single stage of
theimpulse turbine are 65% and 78% re spe ctive ly the n the value of the nozzle e ficie
ncywillbe

Ans 1. 83.33%
2. 50%
3.100%
4.50.7%

QuestionlD:264330100602
Option1ID:264330394954
Option2ID:264330394956
Option3ID:264330394955
Option4ID:264330394953

Status:NotAnswered
ChosenOption:--

|
Q.2WhichofthefollowingstatementsisINCORRECTabouttheBensonboiler?Ans
1.TheBensonboilerisheavierthanotherboilers. «#*

XZ.Bensonboilerscanbeswitchedonveryquickly.
xz, InBensonboilers,drumsarenotused.

x4, Theaverageoperatingpressurefor theBensonboilerishigher than200bar.

QuestionlD:264330159964 )
Option11D:264330627203
Option21D:264330627204
Option31D:264330627206
Option4ID:264330627205

Status:Answered
ChosenOption:2



http://www.prepp.in/
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers
https://t.me/Truly_Engineers

www.prepp.in

Q.3The proce ss of pushing the he ate d bille t or slug of me tal through an die orifice ,
thusforming an e longate d part of a uniform cross-se ction corre sponding to theshape
ofthedieorificeisknownas__

Ans «#1.Extrusionprocess
#52.Rollingprocess
#53.Drawingprocess

25 4.Machiningprocess

N

QuestionID:264330100609
Option1ID:264330394982
Option2ID:264330394983
Option3ID:264330394981
Option4ID:264330394984

Status:Answered

ChosenOption:3

Q.4Which of thefollowing state me nts is corre ct about wate r-tubeand fire -tubeboile rs?Ans

X 1.Incaseofwater-tubeboilers hotgasesflowinthetubes.
#52.Incaseoffire-tubeboilers hotgasesaresurroundedoverthetubes.
#53.Incaseoffire-tubeboilers waterflowsinthetubes.

«#4.Incaseoffire-tubeboilers hotgasesflowinthetubes.

Questionl|D:264330159932
Option1ID:264330627078
Option2ID:264330627077
Option3ID:264330627075
Option4ID:264330627076

Status:Answered

ChosenOption:4
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Q.5

The figure shows the P-V diagram of the
/—Constant pressure

o]

compression
g

Isentropic

Constant pressure
Heat rejection

—> v

Ans " 1.opencyclegasturbine
/X 2.steamengine
25 3.ottocycle

75 4.steamturbine

Q.6What isthevalueof thede nsity of wate r at 4°C?Ans
X1.10gm/cm?

2<2.1000gm/cm?

B 1gm/em’ X
4.100gm/cm’

Questionl|D:264330100150
Option1ID:264330393174
Option2ID:264330393173
Option3ID:264330393175
Option4ID:264330393176

Status:Answered
ChosenOption:2

QuestionlD:26433096271
Option11D:264330377834
Option21D:264330377836
Option31D:264330377833
Option4ID:264330377835

Status:Answered
ChosenOption:3
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Q.7Aclosedvesselcontains5kgofair,and50kJofheatisgiventoit. If75kJofworkisdonebythesystem,th
enwhichofthefollowingistrue?
(TakeCp=1.005kJ/kg-K,Cv=0.718kJ/kg-K)

Ane x1. The temperature of the air will
increase by 7°
The temperature of the air will
2.
decrease by 7°
3 The temperature of the air will
’ increase by 5°
x4 The temperature of the air will
' decrease by 34.8°

QuestionlD:26433099465
Option1ID:264330390473
Option2ID:264330390474
Option3ID:264330390475
Option4ID:264330390476

Status:Answered
ChosenOption:2

Q.8Which of thefollowing turbinehas50%de gre eof re action?Ans
2 1.Curtisturbine

252 Hero'sT urbine
75 3.Rateauturbine

¥ 4.Parson’sturbine

QuestionlD:264330100598
Option1ID:264330394939
Option2ID:264330394938
Option3ID:264330394940
Option4ID:264330394937

Status:Answered
ChosenOption:4

\

Q.9If diffe re nce of axial compone nts of ve locity at inle t and outle t of a de -Laval turbine
isfoundtobe120m/sandmassflowrateof steamis7kg/sthenaxialthrustontherotoris

Ans W
%1.840N

x2.17.14N

3IINX
4.120N

Questionl|D:264330100601
Option11D:264330394952
Option2ID:264330394951
Option31D:264330394949
Option4ID:264330394950

Status:NotAnswered

\ ChosenOption:--
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X1.drafttube

/< 2.speararrangement

25 3.casing

«# 4.guidemechanism

QuestionlD:26433096721
Option1ID:264330379621
Option2ID:264330379624
Option3ID:264330379623
Option4ID:264330379622

Status:Answered

ChosenOption:4

Q.11What is theunit of me asure me nt of actual evaporation in ste am boile

rs?Ans X 1.kgfuelburnt/kgwaterevaporated

X2.m3/kg
«# 3.kgwaterevaporated/kgfuelburnt

5 4.kg

Q.12Aclose d syste munde rgoe sa proce ssin which theworkdoneby thesyste mis100
Jandtheinternalenergydecreasesby50J.Accordingtothefirstlawof
thermodynamics,whatistheamountofheattransferredintooroutofthesystem?

Ans  #1.150J

&2.50)
2<3.-150J

X 4.-50J

Questionl|D:264330159957
Option1ID:264330627177
Option2ID:264330627178
Option3ID:264330627176
Option4lID:264330627175

Status:Answered

ChosenOption:3

QuestionlD:264330157925
Option11D:264330619062
Option2ID:264330619061
Option31D:264330619059
Option4ID:264330619060

Status:Answered

ChosenOption:2
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+1.P = pgh
x2.P = 0.5pgh
<3P = 2pgh
X4P = 1.5pgh

ndsonwhichofthefollowingparameters?
Ans #1.Velocityattheexitof

JX drafttube2.Bladevelocity
«#3.Whirlandbladevelocities

#<4.Whirlvelocityonly

ofmercurytobe1 3,600kg/m3.
Ans X1

10.006kPa X
2.100.06Pa

75 +#3.100.06kPa
4.1000.6Pa

Q.13Which of thefollowing is thecorre ct e xpre ssion for pre ssureinte nsity?Ans

QuestionID:264330159150
Option1ID:264330623959
Option2ID:264330623962
Option3ID:264330623960
Option4ID:264330623961

Status:Answered
ChosenOption: 1

Q.14Intheconte xt of workdoneof turbine , thepowe rdeve lope dby therunne rde pe

\

Questionl|D:264330159161
Option1ID:264330624006
Option2ID:264330624004
Option3ID:264330624005
Option4ID:264330624003

Status:Answered
ChosenOption:3

Q.15What will betheatmosphe ricpre ssureat a location whe rethebarome tricre ading is750 mm Hg
and thegravitational acce le ration is g = 9.81 m/s2? Assumethede nsity

QuestionlD:26433096281
Option11D:264330377874
Option21D:264330377876
Option31D:264330377875
Option4ID:264330377873

Status:Answered
ChosenOption:2
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Q.16Theevaporation of fe e dwate rat 100°Cintodry and saturate d ste amat
100°Catatmosphericpressureisknownas

Ans  X1.actualevaporation
X2. boilerefficiency
45 3. boilerhorsepower

«# 4.equivalentevaporation

QuestionID: 264330159961
Option11D:264330627191
Option2ID:264330627193
Option3ID:264330627194
Option4ID:264330627192

Status:NotAnswered
ChosenOption:--

Q.17WhichofthefollowingisthecorrectitemforDoubleVoluteincentrifugalpumps? Ans ~
1. Flowseparationdoesnottakeplace

752 Flowisseparated  intotwoequalstreamsbytwo-cutwatersthatare90° apart
#53. Flowisseparatedinto two unequalstreamsbytwo-cutwatersthatare90° apart

«# 4.Flowisseparated into twoequalstreamsbytwo-cutwatersthatare180°apart

Questionl|D:264330159091
Option1ID:264330623723
Option2ID:264330623724
Option3ID:264330623726
Option4ID:264330623725

Status:Answered
ChosenOption:3

\ J

Q.18ThebenttubeofaBourdontubepressuregaugewillchangeitsshapewhenexposedtovariationsof

Ans  X1.resistance
2. voltage
3. pressure

75 4.displacement

QuestionlD:26433096302
Option11D:264330377960
Option2ID:264330377958
Option31D:264330377959
Option4ID:264330377957

Status:Answered
ChosenOption:3
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Ans

Ans

Ans

toaccumulationofwaterin:
<
/X 1.absorber
75 2.evaporator
3. heatexchanger

4.condenser

Q.20Thediffe re ncein low te mpe raturecascadeconde nse rte mpe ratureand

hightemperaturecascadeevaporatortemperatureiscalled

75 1.degreeofsuperheat
«# 2.temperatureoverlap
#5 3.averagetemperature

X 4.degreeofsubcooling

nas-

o
x1 .Upmilling
xZ.Downmilling
X3.Facemill1ng

4.Sidemilling

Q.19In aqua-ammonia absorption re frige ration syste m, incomple tere ctification le ads

QuestionlD:264330157252
Option1ID:264330616372
Option2ID:264330616373
Option3ID:264330616371
Option4ID:264330616374

Status:Answered

ChosenOption:2

Questionl|D:264330157197
Option11D:264330616151
Option2ID:264330616152
Option3ID:264330616154
Option4ID:264330616153

Status:Answered
ChosenOption:2

Q.21lIfthecutterandworkpiecemovementsareinoppositedirections,themilling processisknow

QuestionlD:264330100617
Option11D:264330395013
Option21D:264330395014
Option31D:264330395015
Option4ID:264330395016

Status:Answered
ChosenOption: 1
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Q.22Inactualair-conditioningapplicationsforR-12andR-
22refrigerantandoperatingatacondensertemperatureof40°Candanevaporatortemperatureof5°®

C,theheat
re je ction factor

isabout:Ans 1.1.25
K2.2.15

X3.1
X4.5.12

QuestionID:264330160266
Option1ID:264330628404
Option2ID:264330628405
Option3ID:264330628403
Option4ID:264330628406

Status:Answered
ChosenOption:2

\

Q.23Thepressureintensity atapoint inaﬂuidisgivenas3.924N/cm2.What willbethecorresponding
heightoffiuidwhenthefiuidiswater?

Ans W

X 1.4mofwater
x2.3.5mofwater

x3.6mofwater

4.2.5mofwater

QuestionlD:264330159260
Option1ID:264330624400
Option2ID:264330624399
Option3ID:264330624402
Option4ID:264330624401

Status:Answered

Q.241If thelineof strokeof a followe r passe s through the ce ntre of rotation of a cam, the
nthecamiscalled

Ans &
<
1.oscillatingcamandfollower
.. 2.globoidalcam
<
3. radialcam

4. offsetcam

ChosenOption: 1

QuestionlD:264330162540
Option11D:264330637489
Option21D:264330637490
Option31D:264330637488
Option4ID:264330637487

Status:Answered
ChosenOption:2
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Ans

Q.25 ScavengingphenomenonoccurredinTwo-strokelCenginewhen

«”1. BothtransferPortandexhaustportareopenedforawhilesimultaneously
75 2.Bothtransferportandexhaustportarefullyclosed
75 3.BothinletandoutletValveareopenedforawhilesimultaneously

75 4.BothinletandoutletValvearefullyclosed

ChosenOption:

QuestionID: 264330100586
Option1ID: 264330394889
Option2ID: 264330394890
Option3ID: 264330394891
Option4ID: 264330394892
Status: Answered
ChosenOption: 1
Q.26 Whichofthefollowingstatementsiscorrectregardinggovernor?
Ans X 1.Itcontrolsaccelerationoftheprimemover.
25 2.Itcontrolsthetemperatureoftheprimemover.
#3.Itcontrolsthemean speedoftheprimemover.
/X 4.1tisnotacompulsory deviceoftheprimemover.
QuestionlD: 264330162546
Option1ID: 264330637511
Option2ID: 264330637514
Option3ID: 264330637513
Option4ID: 264330637512
Status: Answered
ChosenOption: 3
Q.27 Onthestress-straindiagram,thematerialobeysHooke’slawtill:
Ans  X1.upperyieldpoint
#5 2.pointofultimatestress
25 3.loweryieldpoint
™. elasticlimit
QuestionlID: 26433099536
Option1ID: 264330390759
Option2ID: 264330390760
Option3ID: 264330390758
Option4ID: 264330390757
Status: Answered

4
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Q.28 Whichofthefollowingstatementsistrueabouthotworkingprocess?
Ans  X'1.Allhotworkingprocessesmustbedoneabovelocalenvironmenttemperature.

75 2.Hotworkingprocessoftinisalsoacoldworkingprocess.
3. Itisaprocessofworkingaboverecrystallisationtemperatureofthematerials.

75 4.Itisaprocessofworkingaboveroomtemperature.

QuestionID:264330157515
Option11D:264330617421
Option21D:264330617422
Option31D:264330617420
Option4ID:264330617419

Status:Answered
ChosenOption:3

Q.29Thepoint of inte rse ction of thelineof action of there sultant hydrostatic forceand
thesubmergedsurfaceiscalled _

Ans #<1.centre ofmass
25 2.centreofgravity
75 3.centreofbuoyancy

™. .centreofpressure

QuestionlD:26433096282
Option1ID:264330377880
Option2ID:264330377879
Option31D:264330377877
Option4ID:264330377878

Status:Answered

ChosenOption:4

Q.30 du

5 : a : 2
The continuity equation =it a_; =0 is valid for a

Ans 1.unsteady,2D,compressibleflow
X 2.steady,2D,compressibleflow
«# 3.steady2Dincompressibleflow

< 4.unsteady,2D,incompres sibleflow

QuestionlD:264330100883
Option11D:264330396080
Option21D:264330396077
Option31D:264330396078
Option4ID:264330396079

Status:Answered
ChosenOption:3
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Q.31 Accordingto
directions.

Ans  X'1.Newton'slaw
25 2.Boyleslaw
#5 3.hydrostaticlaw

o 4.Pascal'slaw

insteamboilers?

Ans 16T
ETE TaE
)

md3
| 128T
X3 T= —
| 64T
Ko T=ig

,theintensityofpressureinaliquidatrestisconstantinall

\

QuestionID: 26433095681
Option1ID:264330375508
Option2ID:264330375507
Option3ID:264330375505
Option4ID:264330375506

Status:Answered

ChosenOption:4

Q.32Which of thefollowing state me nts is corre ct about theforce d-draught fan use d

Ans 25 1.Thepowerrequiredbyaninduced-draughtfanisequaltothatrequiredbyaforced-
draughtfanforthesameamountofdraught.

#5 2. Thepowerrequiredbyaninduced-draughtfanislessthan thatrequiredbyaforced-
draughtfanforthesameamountofdraught.

" 3. Thepowerrequiredbyaninduced-draughtfanisgreaterthanthatrequiredbyaforced-
draughtfanforthesameamountofdraught.

/X 4. Thepowerrequired byaninduced-
draughtfanmaybegreaterthanorlessthanthatrequiredbyaforced-
draughtfanforthesameamountofdraught.

QuestionlD:264330159945
Option1ID:264330627129
Option2ID:264330627128
Option3ID:264330627127
Option4ID:264330627130

Status:NotAnswered

Q.33Asolid circular shaft of diame te r d is subje cte d tothetwisting mome nt T. Which of
thefollowingrelationscanbeusedtodeterminethestressdevelopedintheshaft?

ChosenOption:
SHOSERTPHOhR-

QuestionlD:26433099952
Option11D:264330392381
Option21D:264330392382
Option31D:264330392384
Option4ID:264330392383

Status:Answered

ChosenOption: 1
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Q.34In which of thefollowing cycle s doe s he at addition NOT takeplaceat
constantvolume?

Ans x
X 1.Lenoircycle
/5 2.Dualcycle
+#3.0ttocycle

4.Dieselcycle
Questionl|D:264330157517

Option11D:264330617427
Option2ID:264330617430
Option3ID:264330617428
Option4ID:264330617429
Status:Answered
ChosenOption:3

Q.35An impulseturbineis running at 1000 rpm with a ne t he ad 600 m. If
thedischargethroughthenozzleisO.1m3/s,thenwhat willbethepoweravailableat
thenozzle?Takeg=1 om/s?.

Ans  K1.450kW
«72.600Kw
2<3.525kW

7$4.700kW

QuestionlID:26433096720
Option1ID:264330379618
Option2ID:264330379617
Option3ID:264330379619
Option4ID:264330379620

Status:Answered
ChosenOption:2

Q.36Which of thefollowing is NOT thepart of ve nturime te r se
tup?Ans X 1.Throat

«# 2.Float
75 3.Convergingpart
75 4.Divergingpart

QuestionlD:264330159110
Option11D:264330623800
Option21D:264330623802
Option31D:264330623799
Option4ID:264330623801

Status:Answered
ChosenOption:2
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Q.37Ammonia isNOT use d in dome stic re frige ration and comfort air-
conditioningbecause:

Ans 75 1.itsheattransfercoefficientisverylow
«#2.itistoxicandflammable
#5 3. lubricatingoilisnotsolubleinammoniaatall

25 4.itisnotsolublein water

Questioniv: £o453UY0 /89
Option1ID: 264330379894
Option2ID: 264330379895
Option3ID: 264330379896
Option4ID: 264330379893
Status: Answered

ChosenOption: 2

Q.38If thete mpe ratureof 'A' is e qual tothete mpe ratureof 'B'and ' C', the n
thetemperatureof'B'willbeequaltothetemperatureof'C '. Thisisknownas:

Ans #51.Joule'slaw
25 2.lawofthermalequilibrium
/5 3.lawofequalityoftemperature

wM.zerothlawofthermodynamics

Ans X 1.J/kg
X2 Jkg/K

X 4. JK/kg

QuestionlID:
Option1ID:
Option2ID:
Option3ID:
Option4ID:

Status:

ChosenOption:

26433095636
264330375327
264330375325
264330375328
264330375326
Answered

4

Q.39 TheSlunitofspecificheatis:

3. J/kg.K

QuestionID:
Option1ID:
Option2ID:
Option3ID:
Option4ID:

Status:
ChosenOption:

26433099487
264330390564
264330390561
264330390563
264330390562
Answered

3
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Q.40IncaseofdualcycleofanlCengine, heatadditionis

Ans  X'1.onlyanisobaricprocess
/X 2.anisentropicprocess
w3 .bothanisochoricandanisobaricprocess

75 4.onlyanisochoricprocess

QuestionID:264330157518
Option1ID:264330617433
Option2ID:264330617431
Option31D:264330617434
Option4ID:264330617432

Status:Answered
ChosenOption:3

Q.41Whichof thefollowingevaporatorsarealsoknownasprime -surfaceevaporators?Ans X
1. Shell-and-tubeevaporators

/% 2. Finned-tubeevaporators
/% 3.Plateevaporators

«# 4.Bare-tubecoilevaporators

Questionl|D:264330160267
Option1ID:264330628410
Option2ID:264330628408
Option3ID:264330628409
Option4ID:264330628407

Status:Answered
ChosenOption: 1

Q.42Inwhichpercentagegenerallyislubricatingoilmixedwiththefuel,
whichistheninductedintothecarburettorinamistlubricatingsystem?

Ans  &K1. 40%to50%
2. 30%to40%
o 3.3%t06%
X 4.Zero

QuestionlD:26433096533
Option1ID:264330378871
Option21D:264330378869
Option31D:264330378870
Option4ID:264330378872

Status:Answered

ChosenOption:2
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Q.43Whichofthefollowingpointanglesofatwistdrillisusedforgeneralpurposework? Ans x
1.128°

&#2.118°
23.108°
X4.138°

QuestionID:264330159291
Option1ID:264330624525
Option21D:264330624524
Option3ID:264330624523
Option4ID:264330624526

Status:Answered
ChosenOption:3

Q.44 Thefunctionofanairpre-heateris
Ans Y

5 1.todecreasethetemperatureofairafterenteringthefurnace

/X 2.toincreasethetemperatureofairafterenteringthefurnace

«#3.todecreasethetemperatureofairbeforeenteringthefurnace

4.toincreasethetemperatureofairbeforeenteringthefurnace )
Question|D:264330100115
Option1ID:264330393036
Option2ID:264330393035
Option3ID:264330393034
Option4ID:264330393033

Status:Answered
ChosenOption:4

Q.45 Whatwillbethespecificweightofonelitreofpetrolofspecificgravity0.7?(Takeg=
9.81 m/secz)

Ans  X1.5436N/m?
#2.6867N/m’
X 3.7286N/m?
X 4.6256N/m>

QuestionlD:264330159241
Option11D:264330624323
Option21D:264330624326
Option31D:264330624325
Option41D:264330624324

Status:Answered
ChosenOption:2
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Q.46Which of thefollowing state me ntsre late d toropedrive sisSINCORRECT?Ans

" 1.Itisusedtotransmitpoweronly forshorterdistances.

75 2.Ropedriveshavehighmechanicalefficiency.
/X 3.Shaftsdonotrequireexactalignment.

/< 4.Ithasgoodcrushingresistance.

QuestionID:264330166510
Option1ID:264330653084
Option2ID:264330653086
Option3ID:264330653083
Option4ID:264330653085

Status:Answered

ChosenOption:2

Q.47Which fiuid is use d toincre asetherateof evaporation of theliquid ammonia
passingthroughtheevaporatorindomesticElectroluxrefrigerationsystem?

Ans #<1.Water
/5 2.Ammonia
25 3. Mercury

«™.Hydrogen

Questionl|D:264330157250
Option1ID:264330616365
Option2ID:264330616364
Option3ID:264330616366
Option4ID:264330616363

Status:Answered

ChosenOption: 1

\

Q.48Which of thefollowing e quations is use d tocalculatemajor losse s in pipe s? Ans

X1 .Continuityequation
75 2.Momentumequation
#3.Darcy-Weisbachequation

/< 4.Reynolds’sequation

QuestionlD:26433096129
Option11D:264330377287
Option2ID:264330377288
Option31D:264330377285
Option4ID:264330377286

Status:Answered
ChosenOption:3
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Ans ¥ 1.0.2MPa
#52.2.0Mpa
£53.0.8Mpa
#54.0.4MPa

75 4.Workisatransientphenomenon.

Q.49 WhichofthefollowingaboutworktransferisNOTcorrect?
Ans  X1.Workisgivenbytheareaunderthecurveonp-Vdiagramincaseofnon-flowprocess.

#52. Worktransferisaboundaryphenomenon.

«” 3. Worktransferisathermodynamicproperty.

Q51 Match the types of refrigerants with their representations.

QuestionDT26433095635
Option1ID:264330375322
Option2ID:264330375321
Option3ID:264330375324
Option4ID:264330375323

Status:Answered

ChosenOption:3

Q-500.2m3ofanidealgasatthepressureof2MPaand60OKisexpandedisothermaIIyt05time stheinitial
volume . It is the n coole d to 300 K at constant volume and the n,compre sse d back
polytropically toits initial state . Thepre ssurejust afte r theconstantvolumeprocessis

Questionl|D:26433099993
Option1ID:264330392546
Option2ID:264330392547
Option3ID:264330392548
Option4ID:264330392545

Status:Answered
ChosenOption: 1

Type of Refrigerant | Representation
1. CFC refrigerants a. R-22

2. HFC refrigerants b.R-11

3. HC refrigerants c. R-134a

4. HCFC refrigerants | d. R-290

Ans  #&1.1-a;2-¢;3-d;4-b
#£2.1-a;2-d;3-b;4-c
253, 1-b;2-d;3-c;4-a
4. 1-b;2-¢;3-d;4-a

QuestionlD:26433096787
Option11D:264330379885
Option21D:264330379888
Option31D:264330379887
Option4ID:264330379886

Status:Answered
ChosenOption: 1
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ismaximumatthe:
Ans <
/X 1.endofconstantpressurecoolingprocess
«#2.endofisentropicexpansion
2% 3.endofisentropiccompression

4.startofisentropiccompression

Ans X 1.alineparalleltothesaturatedvapourline
«# 2.averticalline
/X 3.ahorizontalline

/< 4.alineparalleltothesaturatedwaterline

dischargethrough thesteamnozzle?

Ans X1.Continu1tyequation
«# 2.Newton'sequationofviscosity
X 3.Momentumequation

75 4.Steadyflowenergyequation

Q.52In the Be II-Cole man re frige ration cycle , the te mpe rature of the re frige rant

Q.53 ThereversibleadiabaticprocessinMollierchartisrepresentedby

QuestionID:264330157193
Option1ID:264330616137
Option2ID:264330616136
Option3ID:264330616138
Option4ID:264330616135

Status:Answered

ChosenOption:3

\

QuestionlD:26433095602
Option11D:264330375191
Option2ID:264330375190
Option3ID:264330375189
Option4ID:264330375192

Status:Answered
ChosenOption:2

Q.54Which of thefollowing e quations is NOT use d in de riving thee xpre ssion for

QuestionlD:264330159967
Option11D:264330627215
Option21D:264330627218
Option31D:264330627216
Option4ID:264330627217

Status:Answered
ChosenOption:2
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Q.55Aworkpie ceistape r turne d using lathe , whe relargediame te r of workpie ceisD
andsmalldiameterd. IfthelengthofthisworkpieceisL, thenhalfanglexisgivenby:

Ans (D—d)
1 tano=—"—
2L
D—d
2. tan o= B=d)
3L
D-d
l.tan o = (o-d
L
D—d
4tan o= D4
4L

Questionl|D:264330100616
Option11D:264330395009
Option21D:264330395010
Option31D:264330395012
Option4ID:264330395011

Status:Answered
ChosenOption:4

Q.56InaCarnotcycle,

Ans r
Z< 1.onlyisothermalprocessesarereversible
«2.allprocessesareirreversible

2% 3.allprocessesarereversible

4.onlyadiabaticprocessesarereversible
QuestionID:26433099999
Option11D:264330392571
Option2ID:264330392570
Option3ID:264330392569
Option4ID:264330392572
Status:Answered
ChosenOption:3

Q.57Whatpressureheadofkeroseneofspecificgravity 0.8will
beequivalenttoapressureheadof100mofwater?

Ans o
x1 .125m
x2.100m
x3.120m

4.110m

QuestionlD:26433096290
Option11D:264330377909
Option21D:264330377910
Option31D:264330377911
Option4ID:264330377912

Status:Answered
ChosenOption: 1
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Q.58Whichofthefollowingisasuitableunitformeasuringthecapacityofrefrigeration?Ans 1.kg
X

2. TR

253, kJ

4. Kw/kg

QuestionID:26433099489
Option11D:264330390571
Option2ID:264330390569
Option3ID:264330390570
Option4ID:264330390572

Status:Answered
ChosenOption:2

Q.59LatentheatofvaporisationisNOTthe

Ans  1.heat requiredforcompleteconversionofsaturatedliquidinto drysaturatedvapour &
«2.heatrequiredforcompleteconversionoficeintowater
/X 3.heataddedatconstanttemperatureof100° Ctoconvertwaterintosteam

#% 4.sumofinternallatentheatandexternalworkofevaporation

Questionl|D:26433099978
Option1ID:264330392485
Option2ID:264330392487
Option3ID:264330392488
Option4ID:264330392486

Status:Answered
ChosenOption:2

Q.60 Whichofthefollowingstatementsaboutequilibriumiscorrect?
Ans 1. Summationof alltheforcesactinginallthepossibledirectionsmustbenon-zero. &

2. Summationofalltheforcesactinginallthepossibledirectionsmustbezero.
75 3.Summationofalltheforcesactinginonedirectionmustbezero.

25 4.Summationofalltheforcesactinginonedirectionmustnotbezero.

QuestionlD:264330162516
Option11D:264330637393
Option2ID:264330637394
Option31D:264330637392
Option4ID:264330637391

Status:Answered
ChosenOption:2
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Qs In the given T-S diagram of Otto cycle, which of the following processes is a heat

addition process?

E

Temperature

Ans 1.2-3

QuestionlD:264330157521
Option11D:264330617444
Option21D:264330617443
Option3ID:264330617446
Option4ID:264330617445

Status:Answered
ChosenOption: 1

\

Q.62Thecorre ct e xpre ssion for thedime nsional formula of volume tricdischargein
thefluidequationsisgivenby

w1371
X2 LST-B
X3.1312
X411l

Ans

QuestionlD:264330159105
Option11D:264330623782
Option21D:264330623779
Option3ID:264330623781
Option4ID:264330623780

Status:Answered
ChosenOption: 1
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Q.63The unitofdensityinFPS(FootPoundSystem)isgivenby:

ChosenOption:

Ans
b/t
X2 |b/ft?
X3 b/t
X4 Lb%/f
QuestionID: 264330159130
Option1ID: 264330623879
Option2ID: 264330623880
Option3ID: 264330623881
Option4ID: 264330623882
Status: Answered
ChosenOption: 1
Q.64 Intheboilermountings,theblow-offcockisfittedat
Ans 7 1.the topofthe boilershell
#52.themiddleoftheboilershell
«#3.thebottomoftheboilershell
5 4.nearthesteamsupplyline
QuestionlD: 264330100121
Option1ID: 264330393057
Option2ID: 264330393058
Option3ID: 264330393059
Option4ID: 264330393060
Status: Answered
ChosenOption: 1
Q.65 Athermometerworksontheprincipleof
Ans X1.Z”dlawofthermodynamics
5 2. Jouleslaw
X3.3rdlawofthermodynamics
™. Zerothlawofthermodynamics
QuestionlID: 264330157557
Option1ID: 264330617587
Option2ID: 264330617590
Option3ID: 264330617588
Option4ID: 264330617589
Status: Answered

4
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Q.66Theve locity of flow be twe e n two adjace nt stre amline s is inve rse ly proportional
tothe:

Ans #51.specificweight
X 2.volumeflowrate
£ 3.circulation

M .spacingofthestreamlines

QuestionID:264330159216
Option11D:264330624224
Option21D:264330624223
Option31D:264330624226
Option4ID:264330624225

Status:Answered

ChosenOption:4

Q.67Functionalityofnozzleisthat,
Ans #<1.ltproducessteamatverylow pressure

X 2.1tproducessteamjetatveryhighpressure
«#3.Itproducessteamjetatveryhighvelocity

/X 4.1tproducessteamatverylowvelocity

Question|D:264330100592
Option1ID:264330394916
Option2ID:264330394913
Option3ID:264330394914
Option4ID:264330394915

Status:Answered
ChosenOption:3

Q.68Whichof thefollowing isNOTa typeof ste amse parator?Ans
" 1.Reciprocatingtype
/X 2.Impactorbaffletype
25 3.Centrifugaltype

X 4.Reversecurrenttype

QuestionlD:264330100117
Option11D:264330393043
Option2ID:264330393041
Option3ID:264330393044
Option4ID:264330393042

.Not Atte mpte
Status: dandMarkedForReview

ChosenOption:--
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Q.69If the C.O.P. of 1 TR ammonia-wate r absorption re frige ration plant is 0.5, the n the he
atsuppliedinthegeneratoris _.(1TR =3.51kw)

Ans #1.10.5
XKW
J21.5kW

3.7kW X
4.3.5kW .

QuestionID:264330157253
Option1ID:264330616378
Option2ID:264330616377
Option3ID:264330616376
Option4ID:264330616375

Status:Answered
ChosenOption:2

Q.70WhichofthefollowingisNOTanexampleofbrittlematerial?Ans
#<1.Highcarbonsteel
o

«-2.Aluminium
~
.3.Ceramicmaterials

<

4.Castiron

QuestionlID:264330158029
Option1ID:264330619476
Option2ID:264330619478
Option3ID:264330619477
Option4ID:264330619475

Status:Answered

Lhosenuption: 2

Q.71AKaplanturbinehasanoutsidediameterofrunnerandhubdiameteras4mand2m,re spe ctive ly. If
theve locity of flow at inle t is 8 m/s, the n what will bethedischargepassingthrough
theturbine?

Ans 1.68 m’/s
2.6.8 m3/s

3.7.536 m?/s
4.75.36 m/s

QuestionlD:26433099810
Option11D:264330391838
Option21D:264330391840
Option31D:264330391839
Option4ID:264330391837

Status:Answered
ChosenOption:4
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Q.72Which oneof thefollowing iscorre ct state me nt about Blade cross se ctional fluid
flowareafrominlettooutletofaturbine?

Ans  X'1.Constantforimpulseturbineanddivergingforreactionturbine
/X 2. Constantforreactionturbineandconvergingforimpulseturbine
«# 3. Constantforimpulseturbineandconvergingforreactionturbine

75 4.Constantfor reactionturbineanddivergingfor impulseturbine

QuestionID:264330100597
Option1ID:264330394935
Option2ID:264330394934
Option3ID:264330394933
Option4ID:264330394936

Status:Answered

ChosenOption:2

Q.73Forthesametemperaturelimit,whichofthefollowingcycleshasmaximumeficiency?
Ans  X'1.0ttocycle

«”2.Carnotcycle
25 3.NormalStirlingcycle

X 4.Dieselcycle

QuestionIDT264330157532
Option1ID:264330617487
Option2ID:264330617490
Option3ID:264330617489
Option4ID:264330617488

Status:Answered
ChosenOption:2

Q.74Whichofthefollowingtypesof
simplemanometersmeasuresthegaugepressureofonlyincompressiblefiuids?

Ans " 1.Piezometer

75 2.Singlecolumnmanometer
253.U-tubemanometer

/X 4.DifferentialU-tubemanometer

QuestionlD:264330100874
Option11D:264330396043
Option21D:264330396042
Option31D:264330396041
Option4ID:264330396044

Status:Answered
ChosenOption:3
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Q.75Which among thefollowing options has samethe rmal e ficie ncy unde r ide
alconditions(Operatewithinthesametemperature)?

Ans  X'1.Carnotanddualcycle
" 2.CarnotcycleandStirlingcycle
#53.Carnot cycleandOttocycle

25 4. CarnotcycleandBraytoncycle

QUESTIONIU: Z0433U 1UUD4D
Option1ID: 264330394725
Option2ID: 264330394728
Option3ID: 264330394726
Option4ID: 264330394727
Status: Answered
ChosenOption: 2
Q.76 Whichofthefollowingideal gasprocesseshasthehighestpolytropicindex?
Ans X1 .Isentropic process
¥ 2.Isochoricprocess
75 3.Isothermalprocess
/X 4.1sobaricprocess
QuestionID: 264330157552
Option1ID: 264330617570
Option2ID: 264330617567
Option3ID: 264330617568
Option4ID: 264330617569
Status: Answered
ChosenOption: 2
Q.77 Whichofthefollowingistheadvantageofaxial fiowpump?
Ans  1.Lowvolumetricdischarge
25 2.Mediumdischargepressure
75 3.Highhead
™. Highvolumetricdischarge
QuestionlID: 264330159093
Option1ID: 264330623733
Option2ID: 264330623732
Option3ID: 264330623731
Option4ID: 264330623734
Status: Answered
ChosenOption: 4
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Q.78Intwo-strokepetrolengine,theairFuelmixtureispreparedAns
&1.InsidetheTransferPort

75 2.Insidethecarburetorandinsidethecylinder
#3.Insidethecarburetorbutoutsidethecylinder

/% 4.InsidetheCrankcasechamber

QuestionID:264330100587
Option1ID:264330394893
Option2ID:264330394895
Option3ID:264330394896
Option4ID:264330394894

Status:Answered

ChosenOption:3

Q.79What will be the ratio of the pre ssure inte nsitie s of two fluids, one with a liquid columnof
0.4 m of wate r and the othe r with a liquid column of 0.2 m of an oil of spe cific gravity0.8?

Ans

X1 3

2

2.2

X3 7

)

&4 5

2

QuestiontD:264330100869
Option11D:264330396023
Option2ID:264330396021
Option3ID:264330396022
Option4ID:264330396024

Status:Answered

ChosenOption:4
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Q.80Acantileve r be am carrie s a uniformly distribute d load ove r a span of 1 m as shown
inthefigurebelow. ThereactivemomentatpointAis

10kN /m

A Im B Im C

Ans 1.30
ZSKN-m
#52.0kN-m

4#3.10kN-m

4.5kN-m \

QuestionlD:264330162511
Option1ID:264330637373
Option2ID:264330637371
Option3ID:264330637372
Option4ID:264330637374

§ Status:Answered J

ChosenOption:4

Q.81Foralaminarfiowthroughacircularpipe,thewall  shearstressacrossasectionisafunctionof

N—— : :
ans 7 the pressure gradient i and the radial coordinate r
1.

;. the pressure gradient % and the radius R
3. the pressure gradient :—: and the axial velocity V,

4, only the pressure gradient 3—:

QuestionlD:264330100878
Option1ID:264330396057
Option2ID:264330396059
Option3ID:264330396060
Option4ID:264330396058

Status:Answered

Ch v 2.
cnosenoptiontz

Q.82Ifheadimparted
byimpellertowaterisequaltomanometrichead,thenthemanometricefficiencyofthece
ntrifugalpumpwillbe:

Ans %1.75%

2.50%
4

» 3.100%
<
4. 0%

Questionl|D:264330159205
Option11D:264330624182
Option2ID:264330624179
Option31D:264330624180
Option4ID:264330624181

Status:NotAnswered
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Q-83IfthepressureintensityatapointinaﬂuidisgivenasZ.7N/cm2,thenwhatwiIlbethepressureheadofoi
lofspecificgravity0.9at thatpoint?Takeg=1 om/s?.

Ans <
4#1.3mmofoil
X 2.3mofoil
2% 3.3cmofoil
4.30cmofoil
QuestionlD: 26433096296
Option11D:264330377936
Option2ID:264330377934
Option3ID:264330377933
Option4ID:264330377935
Status:Answered
ChosenOption:2
Q.84If5litresofacertainoilweighs30N, thenwhatwill  bethespecificweightofthatoil?ANS o
1.6000»}@13
-2.3000N/m’>
x 3
-3.600N/m
~<
4.300N/m>

Questionl|D:26433096276
Option1ID:264330377856
Option2ID:264330377853
Option3ID:264330377854
Option4lID:264330377855

Status:Answered

Ch Ovvi 4
cnosenoption:i

Q.85A circular ope ning, 3 m diame te r, in a ve rtical side of a tank is close d by a disc of 3
mdiame te r which can rotate about a horizontal diame te r and de pth of ce ntre of
gravityfromfreesurfaceis4 m.Whatwillbethetotalpressureonthedisc?

ags 4

1.277.4kN
2.175.7kN

£53.234.89kN
4.100kN

QuestionlD:264330159257
Option11D:264330624390
Option21D:264330624387
Option31D:264330624388
Option4ID:264330624389

Status:NotAnswered
L ChosenOption:--
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Ans

Q86 wwater is flowing steadily at a velocity of 20 m/s through a pipe of diameter 0.2

m. The pressure and elevation at point X are 400 kN/m? and 32 m, respectively,
while those at another point Y are 300 kN/m? and 34 m, respectively. What will

be the head loss between the points X and Y?

Take g = 10 m/s?.
1.6m

#2.8m
253.4m
254.10m

Q.87InBe lI-Cole manCycle , thepre ssureat thee nd of ise ntropiccompre ssionissameas:Ans

<1 .thepressureinconstantpressureexpansion
«# 2.thepressureatthestartofisentropic expansion
75 3. thepressureattheendof isentropicexpansion

/X 4.thepressureatthestartofisentropiccompression

Q.88WhichofthefollowingisNOTameritofdeadweightsafetyvalve?Ans r
1.Itisagoodchoiceforlow-pressurevessels

w#2.5uitableforhighpressureboiler
/5 3.Givessatisfactoryperformance duringoperation

25 4.Simplicityofdesign

QuestionID:264330100882
Option1ID:264330396074
Option2ID:264330396075
Option3ID:264330396076
Option4ID:264330396073

Status:Answered
ChosenOption:2

QuestionlD:264330157191
Option1ID:264330616130
Option2ID:264330616129
Option3ID:264330616128
Option4ID:264330616127

Status:Answered
ChosenOption:2

QuestionlD:264330100122
Option11D:264330393064
Option21D:264330393062
Option31D:264330393063
Option4ID:264330393061

Status:Answered
ChosenOption: 1
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Q.89Ifthemanometricefiiciencyandmechanicalefiiciencyofacentrifugalpumpare70%and
80%,respectively,thentheoveralleficiencywillbe:

Ans  X1.40%
2.56%
% 3.80%
X 4.75%

QuestionID:264330159207
Option11D:264330624187
Option2ID:264330624 189
Option3ID:264330624190
Option4ID:264330624188

Status:Answered

ChosenOption:2

Q.90 Thedimensionalformula forspecificgravityisgivenby:
Ans 1. MILOT!

2. MILITO

3. MOLOTO

4. MOLIT!

Questionl|D:26433095694
Option11D:264330375559
Option2ID:264330375557
Option3ID:264330375560
Option4lID:264330375558

Status:Answered

ChosenOption:3

Q.91Which of thefollowing isa force d circulation typeof boile r?Ans
X1.Cochranboiler

/5 2.Lancashireboiler
«#3.LaMontboiler

75 4.Babcock&Wilcoxboiler

QuestionlD:264330159965
Option11D:264330627210
Option21D:264330627208
Option31D:264330627209
Option4ID:264330627207

Status:Answered
ChosenOption:3
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25 2.Heatsuppliediszero.

temperaturesink.

amnozzleisknownas
Ans o
25 1.coefficientofdischarge

/5 2.Machnumber
x3.criticalpressureratio

4.nozzle efficiency

Q.92Which of thefollowing isan isochoricproce ss?Ans
#1.Heatissuppliedduringevaporation.

3 .Heatingofsteaminaclosedrigidvessel.

/X 4.Heatingofsteaminacylindercontainingaslidingpiston.

«# 2.Perpetualmotionmachineofthe2ndkindisimpossible.
#< 3. Itrestrictstheengineto havemechanicalefficiencylesserthanunity.

/X 4. Aheatenginemustexchangeheatfromasingleheatreservoir.

QuestionlD:26433095604
Option1ID:264330375200
Option2ID:264330375199
Option3ID:264330375197
Option4ID:264330375198

Status:Answered
ChosenOption:3

Q.93 Whichof thefollowingstatementsholdstrue,accordingtoKelvinPlanck’sstatement?
Ans  X1. Some amount of heat taken from a source must be rejected to a higher

Questionl|D:264330157537
Option1ID:264330617507
Option2ID:264330617510
Option3ID:264330617508
Option4ID:264330617509

Status:Answered

ChosenOption:3

Q.94Theratio of theactual mass flow rateto that dueto ise ntropic e xpansion in theste

QuestionlD:264330159969
Option11D:264330627224
Option21D:264330627226
Option31D:264330627225
Option4ID:264330627223

Status:NotAnswered
ChosenOption:--
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Q.95WhatisthemainfunctionofthecondenserinaRankinecyclepowerplant?Ans
1. Todecreasetheefficiencyofthecycle

## 2. Tocondense the steamtillittransformsintosaturatedliquid
/X 3.Toincreasethetemperatureofthecoolingwater

5 4. Toincreasethepressureofthesteam

Q.96 Thedirectionofthefrictionforceis:

ofthetendencytomove

75 2.intheperpendiculardirectionofthemotionofthebody
/X 3.intheinclineddirectionofthemotionofthebody

X 4.in thedirectionofmotionofthebody

Q.97 Heatadditionduringtheconstantpressureprocessisequalto

Ans «” 1.intheoppositedirection ofmotionofthebodyorintheoppositedirection

QuestionID:264330157919
Option1ID:264330619038
Option2ID:264330619036
Option3ID:264330619037
Option4ID:264330619035

Status:Answered
ChosenOption:2

QuestionlD:26433096669
Option1ID:264330379414
Option2ID:264330379415
Option3ID:264330379416
Option4ID:264330379413

Status:Answered

ChosenOption: 1

Ans &1 .changeinentropy
/5 2.changeininternalenergy
/5 3.specificheat

wM.changeinenthalpy

QuestionlD:26433095595
Option1ID:264330375161
Option21D:264330375163
Option31D:264330375164
Option4ID:264330375162

Status:Answered

ChosenOption:4
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Q.98 Intherefrigerationsystem,heatrejectionfactoristheratioof
Ans  1.loadonthecondensertotheCOP 2

25 2.refrigerationcapacitytotheworkdonebycompressor
#53.workdonebycompressorto therefrigerationcapacity

™ .heatrejectedtotherefrigerationcapacity

QuestionID:26433096778
Option1ID:264330379852
Option2ID:264330379849
Option31D:264330379851
Option4ID:264330379850

Status:Answered

ChosenQOption: 1

Q.99Which of thefollowing pre ssure me asure me nt device s consists of a hollow me
taltubebentlikeahookwhoseendisclosedandconnectedtoadialindicatorneedle?

Ans 1. Piezoelectrictransducers

25 2.Strain-gaugepressuretransducers

Questionl|D:26433096299
Option1ID:264330377947
Option2ID:264330377948
Option3ID:264330377946
Option4ID:264330377945

Status:Answered
ChosenOption:3

Q.100
Ifthelowerter{ﬁaﬁ[‘ﬂgefixedbytherefrigerationapplicationishigh,theC.O.P.oftheCarnotrefrige
ratorwillbe T

Ans .....1.less

252, veryless
753, thesame
o 4.high

QuestionlD:264330157192
Option11D:264330616131

Option21D:264330616133
Option3ID:264330616134
Option4ID:264330616132

Status:Answered
ChosenOption:4
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RoliNumB&C JE 2023 Oct 11 Shift 2 Mechanical Question Paper with Answers
CandidateName

VenueName

ExamDate 11/10/2023

ExamTime 1:00PM-3:00PM

Subject JuniorEngineer2023MechanicalPaperl

Section :GenerallntelligenceandReasoning

Q.1 SelecttheVenndiagramthatbestillustratestherelationshipbetweenthefollowingclasses.

Sisters,Mothers, Teachers
Ans

<1

QuestionlD:264330144582
Option1ID:264330566583
Option2ID:264330566585
Option3ID:264330566586
Option4lD:264330566584

Status:Answered
ChosenOption:3
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Q.2Apaperisfoldedandcutasshownbelow.Howwillitappearwhenunfolded?

Ans
0 0
O O
x1.* *
1 (M
* *
0 0
xz. *O*
* %
0°0
0 I
5283
0 I
(] i
4*o o
f.
¥O O¥
0 I

QuestionlD:264330103011
Option1ID:264330404433
Option2ID:264330404434
Option3ID:264330404436
Option4lD:264330404435

Status:Answered
ChosenOption:4

Q.359: T @ T TG MG A TR ATA TP AT aga AT AR «F

Ans 1.9

PLTF

X4 MR

QuestionlD:26433086261
Option1ID:264330338739
Option2ID:264330338738
Option3ID:264330338740
Option4lD:264330338737

Status:Answered
ChosenOption:2




Q.48friends,Abhay, Bala,Chan,Dev, Emran,Fanny,Geeta andHema aresittingaround
asquaretablesuchthatfourofthemsitatthecornersandtheotherfoursitattheexactcentreofthe
sides. Those sitting at the corners are facing outside while those sitting at the centre ofthe
sides are facing the centre. Dev is sitting third to the right of Geeta and is facing thecentre.
Emran is third to the left of Chan who is not sitting at the centre of the sides.
OnlyonepersonsitsbetweenEmranandFanny.FannyisnotChan’sneighbour.Hemaissittingfacingt
hecentre.AbhayisnotFanny’sneighbour.
WhoissittingthirdtotherightofChan?
Ans <
«#1.Bala
X 2.Fanny
#53.Emran
4.Geeta )
QuestionID:26433085631
Option1ID:264330336225
Option2ID:264330336227
Option3ID:264330336228
Option4lD:264330336226
L Status:NotAnswered )
ChosenOption:--
Qs A g S
Ans  X1.16
W
2.20
x
3.18
<
4.22
QuestionlD: 26433068431
Option1ID:264330268236
Option2ID:264330268238
Option3ID:264330268237
Option4lD:264330268239
Status:Answered
ChosenOption:2




Q.6Selecttheoptionthatisrelatedtothethirdterminthesamewayasthesecondtermisrelatedtothe
firsttermandthesixthtermisrelatedtothefifthterm.
56:14::88:7::32:11

Ans  X1.15
2.18
x3.23
X4.28

QuestionlD:264330126044
Option1ID:264330493848
Option2ID:264330493851
Option3ID:264330493849
Option4lD:264330493850

Status:Answered
ChosenOption:3

Q.7Whichtwosignsshouldbeinterchangedtomakethegivenequationcorrect?36 -
5+240+6x17=203

Ans <
«#.vand-
25 2.-andx
75 3.xand+

4.+and+

QuestionlD:264330129529
Option1ID:264330507482
Option2ID:264330507485
Option3ID:264330507484
Option4ID:264330507483

Status:Answered
ChosenOption:2

Q.8Selectthesetinwhichthenumbersarerelatedinthesamewayasarethenumbersofthefollowingset

(NOTE:Operationsshouldbeperformedonthewholenumbers,withoutbreakingdownthenumbe

rsintoitsconstituentdigits.E.g.13-Operationson13suchasadding
/subtracting/multiplyingetc.to13canbeperformed.Breakingdown13into1and3and
thenperformingmathematicaloperationson1and3isnotallowed.)

(7,340,3)
(4,63,1)
Ans %1 .(3,23,4)

><2.(3,56,7)

. 3.(9,34,1
x ( )

4.(2,6,1)

QuestionlD:264330144449
Option1ID:264330566054
Option2ID:264330566052
Option3ID:264330566053
Option4ID:264330566051

Status:Answered
ChosenOption:1




Q.9'5FSHisrelatedto:10HUJ’ inacertainway.Inthesameway, ‘8STH'isrelatedto: 16 UVJ’.Whichofthefollo
wingisrelatedto*12PEP’ usingthesamelogic?

Ans <
251.24MCM

25 2.18NCN

&B.24NCN

4.6NCN

QuestionlD:264330144607
Option1ID:264330566684
Option2ID:264330566686
Option3ID:264330566683
Option4lD:264330566685

Status:Answered

ChosenOption:3

Q.10Inacertaincodelanguage, CROSS iswrittenas‘66’and‘CHART iswrittenas*90’.Howwil'SYMBO
L’bewritteninthatlanguage?

Ans x1.82

2.76
x

a-3-88

x

4.93

QuestionlD:264330144554
Option1ID:264330566473
Option2ID:264330566472
Option3ID:264330566471
Option4lD:264330566474

Status:Answered

ChosenOption:1

Q.11Selecttheoptionthatrepresentsthecorrectorderofthegivenwordsastheywouldappear inanEngli
shdictionary.
1. Manager
2. Maintain
3. Malice
4. Match
5. Mark

Ans  X1.2,3,1,4,5

¥2.2,3,1,5,4
><3.1,5,3,4,2

4.1,2,3,4,5

QuestionlD:264330132449
Option1ID:264330518891
Option2ID:264330518893
Option3ID:264330518894
Option4ID:264330518892

Status:Answered
ChosenOption:2




Q.12SelectthecorrectmirrorimageofthegivencombinationwhenthemirrorisplacedatMNas shownbel
ow.

QSN95 %K

N

Ans LK of2eeenMmeo
1A 2eeneo

. ) e02deN2O

“A¥2UM20

QuestionID:264330144785
Option1ID:264330567395
Option2ID:264330567397
Option3ID:264330567396
Option4ID:264330567398

Status:Answered
ChosenOption:2

\

Q.13Whichofthefollowingnumberswillreplacethequestionmark(?)inthegivenseries?143,153,14
6,7,142,152

Ans  51.145
o#2.156
23.155

54.144

QuestionID:26433091719
Option1ID:264330360244
Option2ID:264330360241
Option3ID:264330360243
Option4ID:264330360242

Status:Answered
ChosenOption:2




Q.14Arrangethefollowingwordsinalogicalandmeaningfulorder.
. chapter

. sentence

. letter

. phrase

. word

Ans  #%1.3,4,2,1,5

AR WN =

X2.3,4,5,1,2
#3.3,5,4,2,1
74.3,4,5,2,1

shdictionary.

1. Demography
2. Denial

3. Demonstrate
4. Dense

5. Demolish

Ans  K1.1,5,3,4,2
&2.1,5,3,2,4
3.1,3,5,2,4
%4.1,5,2,3,4

Q.16Inacertaincodelanguage,“CTA” iscodedas“1203” and“RXB”
iscodedas 22418".Howwil"MQV"becodedinthatlanguage?

Ans  XK1.211419
&2.221713
% 3.211812
X 4.201614

QuestionlD:26433082525
Option1ID:264330323933
Option2ID:264330323936
Option3ID:264330323935
Option4lD:264330323934

Status:Answered

ChosenOption:3

Q.15Selecttheoptionthatrepresentsthecorrectorderofthegivenwordsastheywouldappear inanEngli

QuestionlD:264330129548
Option1ID:264330507561
Option2ID:264330507560
Option3ID:264330507558
Option4ID:264330507559

Status:Answered

ChosenOption:2

QuestionlD:264330132246
Option1ID:264330518082
Option2ID:264330518079
Option3ID:264330518080
Option4ID:264330518081

Status:Answered

ChosenOption:2




Q.17Twostatementsaregivenfollowedbytwoconclusionsnumberedlandll.Assumingthestateme
nts to be true, even if they seem to be at variance with commonly known
facts,decidewhichoftheconclusionslogicallyfollow(s)fromthestatements.

Statements:
Aliclothesarejeans.A
lljeansareshirts.

Conclusions:
|. Allclothesareshirts.
1. Atleastsomeshirtsarejeans.An

s #51.0nlyconclusionlifollows
«# 2. Bothconclusionslandllifollow
#53. Neither conclusion | nor Il follows

5 4.0nlyconclusionlfollows

QuestionlD:264330144656
Option1ID:264330566880
Option2ID:264330566881
Option3ID:264330566882
Option4ID:264330566879

Status:Answered
ChosenOption:2

\

Q.18Selectthecombinationoflettersthatwhensequentiallyplacedintheblanksofthegivenseries,willc
ompletetheseries.

R_ML_P_P__NPR_ML_P_P_LN_A
ns #<1. PNMRLPNMRP
o 2. PNRMLPNRMP
253. PNRMPLNRPM
25 4. NPRMLNPRMP

QuestionlD:264330144516
Option1ID:264330566320
Option2ID:264330566319
Option3ID:264330566322
Option4ID:264330566321

Status:Answered
ChosenOption:2




Q.19Selectthefigurefromtheoptionsthatcanreplacethequestionmark(?)andcompletethepattern.

Ans

x1.

X4

QuestionlD:26433092783
Option1ID:264330364422
Option2ID:264330364421
Option3ID:264330364424
Option4lD:264330364423

Status:Answered
ChosenOption:3
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Q.20Selecttheoptioninwhichthegivenfigureisembedded(rotationisNOTallowed).

2]

Ans

x1.

QuestionID:264330129544
Option1ID:264330507543
Option2ID:264330507545
Option3ID:264330507544
Option4ID:264330507542

Status:Answered
ChosenOption:2




0.213TE THUBTGTARR, o ARG ABBIRIUGHIIG /RS |

2 PR
KERIE
4.d9edh

51T
Ans  X1.53142
X 2.14532
#3.51324
< 4.13254

QuestiontD:264330131043 )
Option1ID:264330513285
Option2ID:264330513283
Option3ID:264330513286
Option4ID:264330513284

Status:Answered
ChosenOption:3

Q.22Inacertain codelanguage, 'CARRY'iscoded asYRUAC and'HUMAN'is codedas
NAPUH.HowwilNIGHT'becodedinthatlanguage?

Ans ~<
% 1.TGHIN
2. TGHNI
% 3. THJIN

4. THKIN

QuestionlD:264330133211
Option1ID:264330521893
Option2ID:264330521892
Option3ID:264330521894
Option4ID:264330521891

Status:Answered )
ChosenOption:3

Q.233RIGH; HH TR TG UG HRIGUH TR T34 R FIHdE, SR edd, 7

YT (Propagate): W(Dlssemmate)
Ans JXLW (Prompt):GHd
X(Quash) 2.9

xq(Sublime):Efq(Divine) 3.d
T (Rapidity):STSdT (Inertia)
4.Yd(Sacred): HUd(Profane)

QuestionlD:264330114740
Option1ID:264330451045
Option2ID:264330451046
Option3ID:264330451048
Option4lD:264330451047

Status:Answered
\ ChosenOption:2 J




Q.24Select the option that is related to the fourth term in the same way as the first term
isrelatedtothesecondtermandthefifthtermisrelatedtothesixthterm.

529:21::7:19::841:27
Ans  51.484
252.361
#£3.402

o 4.441

QuestionlD:264330144442
Option1ID:264330566026
Option2ID:264330566023
Option3ID:264330566025
Option4lD:264330566024

Status:Answered
ChosenOption:4

Q.25Selectthefigurewhichwillreplacethequestionmark(?)inthegivenfiguretocompletethepattern.

Ans

x1.

QuestiontD:26433085667
Option1ID:264330336370
Option2ID:264330336371
Option3ID:264330336372
Option4ID:264330336369

Status:Answered
ChosenOption:3




Q.26Whichofthefollowingnumberswillreplacethequestionmarks(?)inthegivenseries?523,513,?
,496,7,483,478,474

Ans  #1.504,489
#$2.500,488
#53.509,490
#$4.510,490

\

QuestionlD:26433096011
Option1ID:264330376815
Option2ID:264330376813
Option3ID:264330376816
Option4lD:264330376814

Status:Answered
ChosenOption:1

Q.27Whichtwosignsshouldbeinterchangedtomakethegivenequationcorrect?9x182
+14+67-33=151
Ans X 1.zand-

X 2.-andx
. +and+
K 4.xand+

QuestionlD:264330129537
Option1ID:264330507514
Option2ID:264330507517
Option3ID:264330507515
Option4ID:264330507516

.NotAttemptedand
StatusMarkedForReview
ChosenOption:--

Q.28Six friends are sitting in a circle facing the centre. Sumit sits second to the right of
ediateneighbourofAmitandSumit. KaransitssecondtotherightofSumit.

Whositsto theimmediateleft of Amit?
Ans  #1.Dharam
«#2.Param
X 3.Karan

25 4.Tony

Amit.KaranisanimmediateneighbourofParam.TonysitsthirdtotherightofAmit. Dharamisanimm

QuestionlD:264330144640
Option1ID:264330566816
Option2ID:264330566815
Option3ID:264330566817
Option4ID:264330566818

Status:NotAnswered
ChosenOption:--




Q.29 Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

FYU2VD

P Q

"~ xdANISAD
:EYNCAD
-@VEUYi
‘-EAN3SAD

QuestionlD:26433056844
Option11D:264330222363
Option2ID:264330222362
Option3ID:264330222361
Option4ID:264330222360

Status:Answered
ChosenOption:2

Q.30Selecttheoptionthatisrelatedtothefifthterminthesamewayasthesecondtermisrelatedtothefi
rsttermandthefourthtermisrelatedtothethirdterm.
18:52::8:22::12:?

Ans  #1.34
x2.38
3.28
x4.43

QuestionlD:26433078934
Option1ID:264330309749
Option2ID:264330309748
Option3ID:264330309751
Option4ID:264330309750

Status:Answered
ChosenOption:1




Q.31Apaperisfoldedandcutasshownbelow.Howwillitappearwhenunfolded?

*
N 7N

Ans

> Wede=T
x *—080—*

x3 e

QuestionlD:264330103015
Option1ID:264330404451
Option2ID:264330404452
Option3ID:264330404449
Option4ID:264330404450

Status:Answered
ChosenOption:4

Q.32 A is the mother of
B.BisthehusbandofC.
Disthefather-in-
lawofC.HowisArelatedtoD?

Ans v 4
X 1.Wife
#< 2.Father
X 3.Sister

4.Mother

QuestionlD:26433092474
Option1ID:264330363187
Option2ID:264330363188
Option3ID:264330363186
Option4ID:264330363185

Status:Answered
\ ChosenOption: 1




Q.33Inacertaincodelanguage, ‘POLISH’iswrittenas‘89'and‘ CLIP iswrittenas‘72’.HowwillCONTR
OL’bewritteninthatlanguage?

Ans  X1.106
2.9
23.89
4.92

QuestionID:264330144552
Option1ID:264330566464
Option2ID:264330566465
Option3ID:264330566466
Option4ID:264330566463

Status:Answered
ChosenOption:2

Q.34Whichletterclusterwillreplacethequestionmark(?)tocompletethegivenseries?

JIVC,DEXH,XAZM,?
Ans  «#1.RWBR
2. RWCR

3. RXBR
(4. RXCR

QuestionlD:264330144644
Option1ID:264330566834
Option2ID:264330566832
Option3ID:264330566833
Option4ID:264330566831

Status:Answered
ChosenOption:1

Q.35Select the option that is related to the third word in the same way as the second word
isrelatedtothefirstword.(ThewordsmustbeconsideredasmeaningfulEnglishwordsandmust
not be related to each other based on the number of letters/number
ofconsonants/vowelsintheword)

Ink:Pen::Paint:?
Ans K1.Art
«#2.Brush
75 3.Paper
5 4.5ketch

QuestionlD:264330144660
Option1ID:264330566895
Option2ID:264330566896
Option3ID:264330566897
Option4ID:264330566898

Status:Answered
ChosenOption:2




Q.36PointGis9mtothewestofPointH.PointBis 10mtothenorthofPointH. PointAis 18mtothewestofPoin
tB.PointCis28mtothenorthofPointA.PointCis23mtothewestofPoint  D.PointEis 18mtothesouth
ofPointD.PointFisSmtothewestofPointE.WhatisthedistancebetweenPointHandPointF?

Ans  251.10m
252.15m

3.18m
#4.20m

QuestionlD:264330131633
Option1ID:264330515631
Option2ID:264330515634
Option3ID:264330515632
Option4ID:264330515633

Status:NotAnswered
ChosenOption:--




Q.37 Select the figure from the options that can replace the question mark (?) and

complete the given pattern.

Ans

QuestionID:26433074801
Option1ID:264330293295
Option2ID:264330293292
Option3ID:264330293293
Option4lD:264330293294

Status:Answered
ChosenOption:3




Q.38MaanvicyclesXkmtowardsthenorthfromherhomeandthenturnsrightandcyclesYkmtoreachPoi
ntA.ShethenturnsleftandcyclesforX+Ykmtoreachhershop.lfshecycledfor a total of 12 km
from her home to her shop, what is the distance between Point A andhershop?

Ans  X1.7km
252.3km

#3.6km
254.4km

QuestionlD:26455059/7255
Option1ID:264330381639
Option2ID:264330381640
Option3ID:264330381638
Option4lD:264330381637

Status:NotAnswered
ChosenOption:--

\

Q.39Selectthecorrectcombinationofmathematicalsignstosequentiallyreplacethe*signsandbalanc
ethegivenequation.
13*64*2*8*11=18

Ans  K1.xs+ K
2.%5+-
K34z
.f4,+x+—

QuestionID:26433068594
Option11D:264330268889
Option2ID:264330268891
Option3ID:264330268890
Option4ID:264330268888

NotAttemptedand
Status;
35 MarkedForReview

ChosenOption:--

\

Q.4OBWWW,GL;§H I3 9 WEW,WWWWI(W&G{ YU ®T
QP JHHTIS EQ,Gi TAGHIRD IS/
RHYIH AYRIRIHHR Fgec Mgl

dd(Organise):d d¥d d(Jumble)::dq X (Overseas):?
Ans  X1.03q W(Foreign)
o 2. YU ¢ (Domestic)
£5.3.d¢ R(Abroad)
25 4. YT (Alien)

QuestionlD:264330144566
Option1ID:264330566520
Option2ID:264330566521
Option3ID:264330566519
Option4ID:264330566522

Status:Answered
ChosenOption:2




Q.41Selecttheoptionthatrepresentstheletterswhich,whensequentially placedfromlefttorightinthebl
anksbelow,willcompletetheletterseries.
_EN_AE_DR_EAns

2<1.RNADA
& 2. ADRNA
7<'3.NRADA
< 4.DNAAR

QuestionID:26433086964
Option1ID:264330341500
Option2ID:264330341497
Option3ID:264330341498
Option4ID:264330341499

Status:Answered
ChosenOption:1

\

Q.42 ‘Which of the following option figures will complete the pattern in the figure given
below?

Ans

N’ N

QuestionlD:26433080581
Option1ID:264330316257
Option2ID:264330316259
Option3ID:264330316260
Option4ID:264330316258

Status:Answered
ChosenOption:4




Q.43:‘NEST isrelatedto'PHUW inacertainwaybasedontheEnglishalphabeticalorder.Inthesameway, ‘PW
SRisrelatedto'RZUU’.Whichofthefollowingisrelatedto‘MORGusingthesamelogic?

Ans o
X1 .KLPD
xZ. KLOD
x3. KLPE
4.KLQD

QuestionlD:264330144608
Option1ID:264330566688
Option2ID:264330566690
Option3ID:264330566687
Option4ID:264330566689

Status:NotAnswered

\ ChosenOption:--

Q.44Selectthesetinwhichthenumbersarerelatedinthesamewayasarethenumbersofthefollowings
ets.

(NOTE:Operationsshouldbeperformedonthewholenumbers,withoutbreakingdownthenumb

ers into its constituent digits. E.g. 13 - Operations on 13 such
asadding/subtracting/multiplyingetc.to13canbeperformed.Breakingdown13into1and3andth
enperformingmathematicaloperationson1and3isnotallowed)

(5,4,33)

(7,3,55)
Ans  %£1.(9,4,98)

#2.(14,5,260)
+3.(11,7,135)
X4.(8,12,78)

QuestionlD:264330144422
Option1ID:264330565945
Option2ID:264330565946
Option3ID:264330565944
Option4ID:264330565943

Status:NotAnswered

ChosenOption:--

Q.45Whichletterclusterwillreplacethequestionmark(?)tocompletethegivenseries?
LDL,NHJ,PLH,RPF,?
Ans <
< 1.TSD
«#2.STC
X 3.7TTD
4.SSD

QuestionlD:264330144570
Option1ID:264330566538
Option2ID:264330566535
Option3ID:264330566537
Option4ID:264330566536

Status:NotAnswered

L ChosenOption:--




Q.46Selectthenumberfromamongthegivenoptionsthatcanreplacethequestionmark(?)inthefollowin
gseries.

4,80,159,244,338,?
Ans  X1.443

X2.434

£3.433
o 4.444

QuestionID:26433078928
Option1ID:264330309725
Option2ID:264330309724
Option3ID:264330309726
Option4ID:264330309727

Status:NotAnswered

ChosenOption:--

Q.47If+'means*-’,‘-

‘means‘x’,‘x’'means‘+’,*+’'means‘+’,thenwhatwillcomeinplaceofthequestionmark(?)inthefollo
wingequation?

11-42%6+69+27=7
Ans  X1.127

X2.131
3.106
& 4.119

\

QuestionlD:264330126065
Option1ID:264330493934
Option2ID:264330493932
Option3ID:264330493935
Option4lD:264330493933

Status:NotAnswered

Q.48There are seven family members Q, R, S, T, U, V and W. Each are of different ages. R is
elderthanonlythreeothermembers.SisyoungerthanVbutelderthanW,whoistheyoungestamong
all. Q is elder than R but younger than U. U is not the eldest among all. How
manyfamilymembersaretherebetweenQandW?

Ans  X1.2
2.3
3.1
X 4.4

Ch O J
cnosenopton.

QuestionlD:26433068889
Option1ID:264330270071
Option2ID:264330270069
Option3ID:264330270068
Option4ID:264330270070

Status:NotAnswered

ChosenOption:--




Q.49Selecttheletter-
clusterfromamongthegivenoptionsthatcanreplacethequestionmark(?)inthefollowingseries.

ICMS,KDOT,?,0FSV,QGUWA
ns X 1.MESU

o 2.MEQU
25 3.LEQU
754, MERU

QuestionlD:264330144521
Option1ID:264330566341
Option2ID:264330566340
Option3ID:264330566339
Option4lD:264330566342

Status:NotAnswered
ChosenOption:--

Q.50Selecttheword-
pairinwhichthetwowordsarerelatedinthesamewayasarethetwowordsinthegivenpair.
Yarn: Fabric

Ans X
25 1.Petrol:Car
«#2.Lock:Key
X 3. Brick: Wall

4, Poem:Poet

QuestionlD:26433082757
Option1ID:264330324863
Option2ID:264330324864
Option3ID:264330324862
Option4ID:264330324861

Status:NotAnswered

. ChosenOption:--

Section:General Awareness

Q.1AccordingtotheCentreforMonitoringIndianEconomy(CMIE),inwhichstateofIndiawastheunemp
loymentraterecordedas34.5%,asofApril20227?

Ans <
5 1.Maharashtra
25 2.Assam
«3.AndhraPradesh

4.Haryana

QuestionID:264330113298
Option11D:264330445278
Option2ID:264330445280
Option3ID:264330445279

L Option4ID:264330445277

Status:Answered
ChosenOption:4




Q.2InJanuary2023,whoamongthefollowinghasbeenappointedasthenewVice-

ChiefofthelndianAirForce?@Truly_Engineers
Ans X1 .NageshKapoor

252.SandeepSingh
" 3.APSingh
#< 4.RakeshKumarSinghBhadauria

Q.3WhichofstatementisNOTcorrectregardingtheearthquakewaves?Ans
/< 1.P-wavesarecalledtheprimarywaves.

/X 2.5-wavesisthattheycantravelonlythroughsolidmaterials.

253.P-wavesmovefasterandarethefirsttoarriveatthesurface.

Q.4 Mostofthecropsbeingcereals,requiredapproximately
Ans  «#1.50%

X2.83%

X'3.28%

X4, 74%

QuestionID:264330137295
Option1ID:264330537810
Option2ID:264330537808
Option3ID:264330537807
Option4ID:264330537809

Status:Answered
ChosenOption:2

" 4.P-wavecantravelthroughonlysolidandliquidmediumsbutnotgaseousmediums.

QuestionlD:26433055827
Option1ID:264330218294
Option2ID:264330218295
Option3ID:264330218293
Option4ID:264330218292

Status:NotAnswered
ChosenOption:--

\

ofdietarywaterfootprint.

QuestionlD:264330144389
Option1ID:264330565812
Option2ID:264330565814
Option3ID:264330565811
Option4ID:264330565813

Status:Answered
ChosenOption:2




Q.5WhowastheleaderofKairaSatyagrahathatwaslaunchedagainstthegovernment?Ans
«#1.MahatmaGandhi

/< 2.BabaRamchandra
/3. NGRanga
#<4.SardarPatel

QuestionlD:264330112167
Option1ID:264330440754
Option2ID:264330440756
Option3ID:264330440755
Option4lD:264330440753

Status:NotAnswered
ChosenOption:--

W é{%@ YEE T GEHE FY T I qu‘ ST ol
‘5"| T P F T BRU W BT €
WWW RIS dTE [(CRITHT  7-TgThRUHY Th88?

%1 TR-H H3ATQIF-GTT (Non-monetaryexchanges)
2.9 TR (Externalities)

x 3. ST dD ST ATH TR (Levelofpolitical awareness)
4,518 J ®HTIAR (DistributionofGDP)

QuestionlD:26433082234
Option1ID:264330322770
Option2ID:264330322771
Option3ID:264330322772
Option4ID:264330322769

Status:Answered

\ ('hncnnﬁpfinn'1

Q.7Which team won the 2022 Durand
Cup?Ans vy
1.BengaluruFootballClub

2. ATKMohunBagan
X3.GoaFC
X 4.MumbaiCityFC

QuestionlD:264330119250
Option1ID:264330467288
Option2ID:264330467289
Option3ID:264330467290
Option4lD:264330467287

Status:Answered

ChosenOption:Z2




Q.8ldentify the chemical formula for
ethyne.Ans «#1.CHy

XZ. CoHe
X3. CoHs0H
X4 CHy4

QuestionlD:264330134861
Option1ID:264330528380
Option2ID:264330528382
Option3ID:264330528381
Option4ID:264330528379

Status:Answered
ChosenOption:1

Q.9 AlIEnglandChampionshipsisassociatedwith
Ans o
2% 1.Badminton

XZ.Cricket
x3.Tennis

4.Tabletennis

QuestionlD:264330110337
Option1ID:264330433626
Option2ID:264330433625
Option3ID:264330433627
Option4lD:264330433628

Status:Answered

ChosenOption:3

Q.10As per Finance Bill 2023, eligible start-ups will be able to set off and carry forward
lossesincurred during their first ten years of incorporation, even if there has been a change
inshareholding,ifallshareholderscontinueduringtherelevantperiod. Theprevioustimelimitofsev
enyearshasbeenincreasedto

Ans %1 .12years

- 2.13years
<

3.15years

4.10years

QuestionlD:264330156941
Option1ID:264330615140
Option2ID:264330615141
Option3ID:264330615142
Option4lD:264330615139

Status:NotAnswered
ChosenOption:--




Q.11Whichofthefollowingmetalsispresentinnatureinitsfreestate? Ans X
1. Magnesium

¥ 2. Platinum

X 3.Zinc
25 4.Calcium

QuestionlD:264330131683
Option1ID:264330515832
Option2ID:264330515831
Option3ID:264330515834
Option4ID:264330515833

Status:Answered
ChosenOption:4

Q.12Whendid5Gservicesbegintobeofferedinindia?Ans
#<1.19September2021

+#2.10ctober2022
75.3.285eptember2022

75 4.10August2021

QuestionlD:264330130582
Option1ID:264330511439
Option2ID:264330511442
Option3ID:264330511441
Option4lD:264330511440

Status:NotAnswered
ChosenOption:--

\

Q.13Whichofthefollowingisacommonconditionthatdevelopswhenastickysubstancecalledplaquebuil
dsupinsideyourarteries,causingthemtohardenandnarrow?

Ans " 1.Atherosclerosis
5 2.Multiplesclerosis
£ 3.Hyperaldosteronism

25 4.Hypervitaminosis

QuestionID:264330130989
Option1ID:264330513068
Option2ID:264330513069
Option3ID:264330513070
Option4ID:264330513067

Status:Answered
ChosenOption:3




«#1.Puri,KhurdaandGanjam
75 2.Angul,CuttakandPuri

25 3. Puri,CuttackandGanjam

#54. Puri,BhubaneswarandKhurda

Q.15 Martyrdomofrevolutionary
Ans 7<1.BhagatSingh

#52.SachindranathSanyal
#3.ChandrashekharAzad

X 4.BatukeshwarDutt

Q.14ChilikaLakeisabrackishwaterlagoon,spreadoverwhichdistrictsofOdishastate? Ans

QuestionlD:26433054948
Option1ID:264330214779
Option2ID:264330214776
Option3ID:264330214777
Option4ID:264330214778

Status:NotAnswered
ChosenOption:--

tookplaceon27February,1931.

QuestionlD:264330111412
Option1ID:264330437735
Option2ID:264330437733
Option3ID:264330437734
Option4ID:264330437736

Status:Answered
ChosenOption:3

TR ST XTTSAIST FUT S8 119 20U S TR TR = i

QuestionlD:26433089868
Option1ID:264330352952
Option2ID:264330352950
Option3ID:264330352951
Option4ID:264330352949

Status:Answered
ChosenOption:2




Q.17WhichofthefollowingstatementsisINCORREC Taboutmigrationinindia?Ans
1. Migrationmayberuraltourban.

/X 2. Migrationhaspullandpushfactors.
«# 3. Migrationdoesnotdependonsocialfactors.

725 4.Itmaybeurbantoruralareas.

QuestionlD:264330144418
Option1ID:264330565927
Option2ID:264330565929
Option3ID:264330565930
Option4ID:264330565928

Status:Answered
ChosenOption:4

Q.18DarshanaJhaveriandDevjaniChalihaarebestknownfortheircontributionstowhichofthe givensty
lesoflndiandance?

Ans #51.Kathak

«#2.Manipuri
253.Kuchipudi

/< 4.Bharatanatyam

QuestionlD:264330130514
Option1ID:264330511169
Option2ID:264330511168
Option3ID:264330511167
Option4ID:264330511170

Status:NotAnswered
ChosenOption:--

Q19T IOEIAY -9 A® A 168 PAns o

1. AMHRIFH AT ITF: T TG T Te 1947
2.9 RATITD Y TRae T AT IRET Y RRadRAT
23, ST TP TR VTGO AR S U YR T

QuestionlD:264330112766
Option1ID:264330443152
Option2ID:264330443149
Option3ID:264330443151
Option4lD:264330443150

Status:Answered
ChosenOption:1




Q.20Whichcybersecuritymeasureinvolvesverifyingtheidentityofusersbeforegrantingaccesstoa
systemornetwork?

Ans  X1.Firewallconfiguration
X 2. Regularsoftwareupdates
«# 3. Multi-factorauthentication

25 4.Networkencryption

QuestionlD:264330168584
Option1ID:264330661147
Option2ID:264330661148
Option3ID:264330661149
Option4ID:264330661150

Status:Answered
ChosenOption:1

\

Q.21NametheGovernmentschemeaimedtobenefitwomenentrepreneursfrombackwardbackgr
oundsorpoorbackgrounds.

Ans  X1.BetiBachaoBetiPadhao
«# 2.MahilaSamriddhiYojana
#53.PradhanMantriMatruVandanaYojana

X 4.Ujjawala

QuestionlD:264330110667
Option11D:264330434945
Option2ID:264330434947
Option3ID:264330434946
Option4ID:264330434948

Status:Answered
ChosenOption:2

Q.22Whichofthefollowingpairsofcoastandthestateinwhichitislocatedis INCORRECT?Ans
#1.Konkancoast-Maharashtra

/X 2.Gaoncoast-Karnataka
«#3.Malabarcoast-TamilNadu

7% 4.Kathiawarcoast-Gujarat

QuestionlD:26433055657
Option1ID:264330217613
Option2ID:264330217614
Option3ID:264330217615
Option4lD:264330217612

Status:Answered
ChosenOption:2




e:::ﬁT(com moditymoney)ﬁ%’fﬁ

ChosenOption:

Ans 1.9
X2.FTF
o 3.90H
X4
QuestionID: 264330144410
Option1ID: 264330565898
Option2ID: 264330565897
Option3ID: 264330565895
Option4ID: 264330565896
Status: Answered
ChosenOption: 3
Q.24WhoclassifiedIndiansocietyintosevenclasses?
Ans  X1.Strabo
«# 2.Megasthenes
25 3.Pliny
X 4.Arian
QuestionID: 264330112132
Option1ID: 264330440614
Option2ID: 264330440615
Option3ID: 264330440613
Option4ID: 264330440616
Status: NotAnswered
ChosenOption: --
Q.25WhatistherespectivepercentageofCO2,N2,andOsintheatmosphere?
Ans 1
X 7 CO2=0.08%, Ny ="70.08%, O;=29.95%
2.C0O2=10.04%, N> = 78.08%, Oy=20.95%
X3. CO2=0.03%, N>= 68.08%, O2=30.95%
X4 C0O2=0.04%, N2=20.95%, O= 78.08%
QuestionID: 264330109932
Option1ID: 264330432006
Option2ID: 264330432005
Option3ID: 264330432008
Option4ID: 264330432007
Status: Answered

2




theconstituenciesonthebasisofthecensusof
Ans  2X1.1991

7 2.1981
o 3.2001
< 4.1971

Q.27WhichofthefollowingareNOTantimicrobialdrugs?Ans
«"1.Antacids
/X 2.Disinfectants

#5 3. Antibiotics

5 4. Antiseptics

1. SMTP
X2.TCP/IP

253, IMAP
#54.POP3

Q.26The Constitution (87" Amendment) Act, 2003 provided for the delimitation of

QuestionID:264330119646
Option1ID:264330468861
Option2ID:264330468860
Option3ID:264330468862
Option4lD:264330468859

Status:Answered
ChosenOption:3

QuestionlD:264330113345
Option1ID:264330445465
Option2ID:264330445468
Option3ID:264330445466
Option4ID:264330445467

Status:NotAnswered
ChosenOption:--

Q.28Whichofthefollowingprotocolsisusedbyemailclientstosendemailtomailservers?  Ans «#

QuestionlD:264330168572
Option1ID:264330661100
Option2ID:264330661102
Option3ID:264330661101
Option4ID:264330661099

Status:Answered
ChosenOption: 1




Q.29Beta-carotene,lycopene,luteinandseleniumareexamplesof:

Ans X 1.anti-coagulants
25 2. immunosuppressants
3. antioxidants

25 4.sourcesofVitaminC

QuestionlD:264330109938
Option1ID:264330432031
Option2ID:264330432032
Option3ID:264330432030
Option4lD:264330432029

Status:NotAnswered

ChosenOption:--

Q.303< T TTHE
& 1.3 T3
P YRR KL
P ERIREREIY
254,31 GoleTHT4

QuestionlD:264330113276
Option1ID:264330445191
Option2ID:264330445189
Option3ID:264330445190
Option4ID:264330445192

Status:NotAnswered

Q.31WhichofthefollowingclassicaldancerswonthePadmaShriawardin2022forthedanceformofKu
chipudi?

Ans o
/X 1.GaddamPadmajaReddy

X 2.HemaMalini
2< 3.BirjuMaharaj

4.SujataMohapatra

ChosenOption:--

QuestionlD:26433064808
Option1ID:264330253825
Option2ID:264330253827
Option3ID:264330253824
Option4ID:264330253826

Status:Answered

I Ovemies 4
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Ans

Ans

Q.32WhatisPetrology?

#251.Scienceofmetals
X 2. Scienceofgases
«#3. Scienceofrocks

75 4.5cienceofminerals

QuestionlD:264330113358
Option1ID:264330445519
Option2ID:264330445518
Option3ID:264330445520
Option4lD:264330445517

Status:NotAnswered
ChosenOption:--

1.0.4%
&2.1.7%
X3.79.8%
X4.14.2%

Q.33AccordingtotheCensusoflndia2011,whatwasthepercentageofSikhcommunitiesinthetotalpopu
lationinindia?

QuestionlD:264330157087
Option1ID:264330615721
Option2ID:264330615722
Option3ID:264330615720
Option4ID:264330615719

Status:Answered
ChosenOption:2

Q.34 7 F | § & 7 IT b G gl (nasal congestion) @ TS H GRG?Ans

« 1.8 CTH (Histamine)
25 2.3URITHD (Tranquilizers)
#53.QqTdR® (Analgesics)
25 4.C ™Igd I (Tetracycline)

QuestionlD:264330113344
Option1ID:264330445461
Option2ID:264330445462
Option3ID:264330445463
Option4ID:264330445464

Status:Answered
ChosenOption:1




Q.35Which element was proposed by Glenn T Seaborg in 1955 through the bombardment of

aminute amount of a rare, radioactive isotope of Einsteinium with x-particles in a 60-
inchcyclotron?

Ans #51.Neptunium
«#2.Mendelevium
25 3.Lawrencium

254.Nobelium

QuestionlD:264330141688
Option1ID:264330555073
Option2ID:264330555072
Option3ID:264330555074
Option4ID:264330555071

Status:NotAnswered
ChosenOption:--

\

Q.36WhichofthefollowingclassicaldancestylesisinscribedontheGopuramofChidambaramtemple?
Ans  X1.Kathak

«#2.Bharatnatyam
25 3.Kuchipudi
< 4.Mohiniyattam

QuestionlD:264335072658
Option1ID:264330284892
Option2ID:264330284894
Option3ID:264330284893
Option4ID:264330284895

Status:NotAnswered
ChosenOption:--

Q.37Howmuchofglobaltradeiscarriedoutthroughthesearoute?Ans
751.60%

2. 80%
3. 90%
X 4. 70%

QuestionlD:26433086626
Option1ID:264330340148
Option2ID:264330340146
Option3ID:264330340145
Option4ID:264330340147

Status:Answered
ChosenOption:3




Q.38AspertheBudget2022announcement,a incometaxwillbeappliedonearnings
fromvirtualdigitalassetslikecryptocurrencies.
Ans  X1.40%
2. 30%
X3.25%
X4, 15%
QuestionlD:264330156926
Option1ID:264330615082
Option2ID:264330615079
Option3ID:264330615080
Option4ID:264330615081
Status:NotAnswered
ChosenOption:--
Q.39Article oftheConstitutionof Indiastatesthat theChiefMinistershall beappointed
bytheGovernor.
Ans  X1.163
£2.165
" 3.164
$4.161
QuestionlD:264330130493
Option1ID:264330511084
Option2ID:264330511086
Option3ID:264330511085
Option4ID:264330511083
Status:NotAnswered
ChosenOption:--
Q.4087
GATTRIRATIT BT I TIR A TTHR
ns ?\(1.34 TRTIRTE
22 AETSUT
AT A
4.Y8 IR
QuestionID:26433074866
Option1ID:264330293552
Option2ID:264330293553
Option3ID:264330293554
Option4ID:264330293555
Status:Answered
L ChosenOption:2 J




Ans

Q.41 The11Mfundamentaldutyisrelatedto

X1.environment
25 2.culture

75 3.health

4# 4.education

ChosenOption:

QuestionID: 264330118531
Option1ID: 264330465526
Option2ID: 264330465527
Option3ID: 264330465525
Option4ID: 264330465528
Status: Answered
ChosenOption: 4
Q.42Whatisthenameoftheorganiccompoundinthegivenfigure?
NH,
Ans  &1.Benzene
X 2.Tropone
4 3.Aniline
254.Cyclohexene
QuestionID: 264330131687
Option1ID: 264330515850
Option2ID: 264330515848
Option3ID: 264330515849
Option4ID: 264330515847
Status: Answered
ChosenOption: 1
Q.43WhenwasthelndianAssociationfounded?
Ans «71.1876
X2.1875
53.1874
7541871
QuestionID: 264330109047
Option1ID: 264330428468
Option2ID: 264330428467
Option3ID: 264330428466
Option4ID: 264330428465
Status: NotAnswered




Q.44InMarch2023,whichofthefollowingorganisationslaunchedMission‘HarPaymentDigital’?
Ans & 1.NationalStockExchangeofindialtd.

252. Calcutta StockExchange Ltd.
4" 3. ReserveBankofIndia
#< 4.StateBankofIndia

QuestionlD:264330156455 )
Option1ID:264330621181
Option2ID:264330621182
Option3ID:264330621180
Option4ID:264330621179

Status:Answered
ChosenOption:4

Q.45ThetotalnumberofpersonsawardedunderJeevanRakshaPadakSeriesofAwards-
2022,whichwasannouncedbythePresidentoflndiaon 25thJanuary2023,stoodat .

Ans  «#1.43
x2.33
X3.63
X4.53

QuestionlD:264330132573
Option1ID:264330519388
Option2ID:264330519387
Option3ID:264330519390
Option4ID:264330519389

Status:NotAnswered
ChosenOption:--

Q46TITGIRG T H 5T F-F TSI TeH ST = e »

«# (Saccharin) 2.T¢TC H(Alitame)
53, H:;T@\_;T(Sucralose)
254, THHD" HK(Acesulfamek)

QuestionID:264330120050
Option1ID:264330470455
Option2ID:264330470457
Option3ID:264330470456
Option4lD:264330470458

Status:Answered
ChosenOption:3




Q.47WhichofthefollowinginstrumentsdidSheikChinnaMoulana,afamousinstrumentalistfromin
dia,play?

Ans x
X 1.Mridangam

#52.Ghatam
«#3.Violin

4. Nadhaswaram

QuestionlD:26433066686
Option1ID:264330261270
Option2ID:264330261268
Option3ID:264330261271
Option4ID:264330261269

Status:NotAnswered

ChosenOption:--

Q.48Whichof thefollowing Articlesof theConstitution ofIndia mentionsabout theabolition
ofuntouchability?

Ans o
~
- 1.Article17

<

2.Article16
3.Article21

4. Article28

QuestionID:26433086815
Option11D:264330340903
Option2ID:264330340904
Option3ID:264330340902
Option4ID:264330340901

Status:Answered
ChosenOption:1

Q.49Ason1stFebruary2023,whoamongthefollowingistheChairpersonoftheNationalDisaster
ManagementAuthority(NDMA)?

Ans x/
x1 .NarendraModi
<2. DroupadiMurmu
3.Rajnath Singh

4. AmitShah

QuestionlD:264330132616
Option1ID:264330519560
Option2ID:264330519559
Option3ID:264330519561
Option4ID:264330519562

Status:Answered
ChosenOption:4




X X X g

Section:GeneralEngineeringMechanical

Ans

Ans

Q.1 Whichof thefollowingis thecorrect relationfor specificspeed ofturbine?
1.Specificspeedisdirectlyproportionaltosquareoftheheadunderwhichtheturbineisworking 2%

«# 2.Specificspeedisdirectlyproportionaltosquarerootofshaftpower

45 3. Specificspeedisdirectlyproportionaltoshaftpower

4 4. Specificspeedisdirectlyproportionaltoheadunderwhichtheturbineisworking

Q.2Thefrictionexperiencedbythebodywhenthebodytendstomoveisknownas:

1.slidingfriction X
xz. rollingfriction
‘,3. staticfriction

X4.dynamicfriction

QuestiontD:264330+69459—\
Que +

Option1ID:264330623998
Option2ID:264330623996
Option3ID:264330623995
Option4lD:264330623997
Status:Answered
ChosenOption:2

QuestionlD:26433096673
Option1ID:264330379429
Option2ID:264330379430
Option3ID:264330379432
Option4ID:264330379431

Status:Answered
ChosenOption:4

\\sss———————————————————)
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Q.3Therearetwohorizontalpipesinwhichwaterisfiowing.lfwehavetofindthepressuredifference
between these two horizontal pipes using an inverted manometer, and twomanometric
fluids with specific gravities of 13.5 and 0.9 are available, then
whichmanometricfiuidwillbeappropriate?

Ans  &K1.Cannotbepredicted
25 2. Fluidwiththespecificgravityof13.5
25 3. Both thefluids can beused

«# 4.Fluidwiththespecificgravityof0.9

QuestionlD:264330100873
Option1ID:264330396040
Option2ID:264330396038
Option3ID:264330396039
Option4ID:264330396037

Status:Answered
ChosenOption:2

Q.4 Thespeedratioofacompoundgeartrainisdefinedas .

Ans Speed of last follower
Speed of first driver

Product of number of teeth on driven shafts
Product of number of teeth on driver shafts

Product of speed of followers
Product of speed of drivers

x3.

) Product of number of teeth on driver shafts
" Product of number of teeth on driven shafts

QuestionlD:26433099837
Option11D:264330391946
Option2ID:264330391947
Option3ID:264330391948
Option4ID:264330391945

Status:Answered
ChosenOption:2

Q.5For a two-stage reciprocating air compressor, the section pressure is 1.6 bar and
thedeliverypressureis40bar.Whatisthevalueoftheidealintercoolerpressure(inbar)?

Ans  «#1.8
x2.9
3.4.56
%4.20.8

QuestionlD:264330158702
Option1ID:264330622168
Option2ID:264330622169
Option3ID:264330622167
Option4ID:264330622170

Status:Answered
ChosenOption:1




Q.6 Theexpansionprocessinavapourcompressionrefrigerationcycleisa/an

Ans #51.constantvolumeprocess
X 2.isentropicprocess
/< 3.reversibleisothermalprocess

«# 4.isenthalpicprocess

QuestionlD:264330157260
Option1ID:264330616406
Option2ID:264330616403
Option3ID:264330616405
Option4ID:264330616404

Status:Answered
ChosenOption:4

Q.7Acyclicheatengineofthermalefiiciency80%does60kJofworkpercycle. Theheatrejectedper
cyclewillbeequalto .

Ans x1 .compression

..2.condensation

<
<

3. evaporation

4.expansion

Ans x<
251.75kJ
«#2.20kJ
K 3.15kJ

4.48kJ

QuestionlD:264330157533

Option1ID:264330617491

Option2ID:264330617494

Option3ID:264330617492

Option4ID:264330617493

L Status:Answered
ChosenOption:3
Q.8 Thehighesttemperatureduringthecycle,inavapourcompressionrefrigerationsystem,occursafter:

QuestionID:264330157199
Option1ID:264330616159
Option2ID:264330616160
Option3ID:264330616162
Option4ID:264330616161

Status:Answered
ChosenOption: 1




Q.9ThespeedratioforanimpulseturbinecanbetakenasJoin @Truly_EngineersonTelegram
Ans  X1.0.6

%2.0.75
3.0.45
X4.0.3

QuestionlD:26433099831
Option1ID:264330391921
Option2ID:264330391922
Option3ID:264330391923
Option4lD:264330391924

Status:Answered

ChosenOption:3

Q.10Forthesamecompressionratio,whichofthefollowingprocesseswillrequiretheleastcompress
ionwork?

Ans 4
7< 1.1sothermalprocess
xZ.Adiabaticprocess

x3. Isochoricprocess

4. Polytropicprocess

Q.11Whichofthefollowingstatementsistrueregardingvapour-
compressionrefrigerationsystem(VCRS)?

Ans &

1.PowerconsumptionofVCRSwithaircooledcondenserismoreascomparedtothatofVCRSwithwat
ercooledcondenser.

2. VCRSwithbothwatercooledandaircooledcondenserwillrequiresamepowerforsamerefrigera
tioneffect.

x
3. PowerconsumptionofVCRSwithaircooledcondenserislessascomparedtothatof VCRSwithwater
cooledcondenser.

<
4. PowerconsumptionofVCRSwithaircooledcondensermaybelesserorgreaterthanthatof VCRSwit
hwatercooledcondenser.

QuestionlD:26433096771
Option1ID:264330379824
Option2ID:264330379822
Option3ID:264330379821
Option4lD:264330379823

Status:Answered

ChosenOption:1

QuestionID:26433096806
Option1ID:264330379961
Option2ID:264330379963
Option3ID:264330379962
Option4ID:264330379964

Status:Answered

ChosenOption:3




Q.12Thevalueofenthalpyofvaporisationapproachestozeroonthesaturationcurveofwateronatemp
eratureentropydiagram:

Ans  &1.abovecriticalpoint
X 2. belowcriticalpoint
/% 3. neverapproachestozero

«# 4.atcriticalpoint

QuestionlD:26433096537
Option1ID:264330378887
Option2ID:264330378886
Option3ID:264330378888
Option4lD:264330378885

Status:Answered
ChosenOption:4

Q.13Inair-conditioningofaeroplanes,usingairasarefrigerant,thecycleusedis:

Ans X1 .reversedOttocycle
X 2.reversedJoulecycle
«# 3. reversedBraytoncycle

X 4.reversedCarnotcycle

QuestionlD:264330157195
Option1ID:264330616146
Option2ID:264330616144
Option3ID:264330616145
Option4lD:264330616143

Status:Answered
ChosenOption:3

Q.14AccordingtotheAmericanSocietyofMechanicalEngineers(ASME),theevaporationof
15.63kgofwaterat100°Cperhourfrom100°Cfeedwaterinasteamboilerisknownas

Ans #1.boilerefficiency
/X 2.equivalentevaporation
«#3.boilerhorsepower

75 4.actualevaporation

QuestionlD:264330159960
Option1ID:264330627189
Option2ID:264330627188
Option3ID:264330627190
Option4ID:264330627187

Status:Answered
ChosenOption:3




Q.15Ifthespecificweightofanuidis 1 9620N/m3,thenwhatwiIlbeitsspecificvolumeinm3/kg?(Take
g=9.81 m/secz)

Ans  X'1.5x107
#2.0.5x10°3
23.0.5x10°”
X4.5x10°

QuestionID: 26433096274
Option1ID: 264330377846
Option2ID: 264330377847
Option3ID: 264330377848
Option4ID: 264330377845

Status: Answered
ChosenOption: 2

Q.16ThetermpV2/2usedinBernoullitheoremisbasically:
Ans X 1.stagnationpressure

«# 2.dynamicpressure
/X 3.staticpressure

25 4.hydrostaticpressure

QuestionID: 264330159214
Option1ID: 264330624218
Option2ID: 264330624216
Option3ID: 264330624215
Option4ID: 264330624217

Status: Answered
ChosenOption: 2

17 Match the following.
Halocarbon Refrigerants Examples
1. Halons a. R-32
2. CFCS b. R-22
3. HFCs c. R-11
4. HCFCs d. R-10

Ans  4g#1.1-d;2-C;3-a;4-b
X2.1-d;2-3;3-¢;4-b
X3.1-d;2-¢;3-b;4-a
K 4.1-3;2-¢;3-d;4-b

QuestionID: 26433099503
Option1ID: 264330390625
Option2ID: 264330390626
Option3ID: 264330390627
Option4ID: 264330390628

Status: Answered
ChosenOption: 1




Q.18Generationofsteaminaboilerisanexampleofan .

Ans X 1.isothermalprocess
/X 2. adiabaticprocess
/5 3. isochoricprocess

«# 4.isobaricprocess

QuestionlD:26433095603
Option1ID:264330375193
Option2ID:264330375194
Option3ID:264330375195
Option4ID:264330375196

Status:Answered
ChosenOption:4

\

Q.19ACarnotcycleoperatesbetweentwotemperaturesT1andT2. Theefiiciencyofthecycleisgivenbyn=
(T1-T2)/T1.Whichofthefollowingstatementsiscorrect?

Ans X 1 .TheefficiencyoftheCarnotcycleisalwayslessthanthatofanyotherheatengineoperatingbetw
eenthesametwotemperatures.

2. TheefficiencyoftheCarnotcycleisalwaysequaltothatofanyotherheatengineoperatingbetw
eenthesametwotemperatures.

4
3. TheefficiencyoftheCarnotcycleisalwaysgreaterthanthatofanyotherheatengineoperatingbetw
eenthesametwotemperatures.

4. Theefficiency oftheCarnotcycledependsonthe workingsubstanceused.
~
QuestionlD:264330157928
Option1ID:264330619073
Option2ID:264330619072
Option3ID:264330619071
Option4ID:264330619074
Status:Answered
ChosenOption:3




Q.20The*="= = =T mmotns Fmtem e dim oo oo oo o oot — M- - 4o -~ —*amoperateson the

re 2 system
is T

% Tz = —— ——— 3 -

% y o

—

N
T
|
|
|
|
|

F-
-

Entropy ——>

Ans  «#1.5.16
X2.4.82

2$3.3.45
$4.2.75

QuestionID:264330160034
Option1ID:264330627483
Option2ID:264330627484
Option3ID:264330627485
Option4lD:264330627486

Status:Answered
ChosenOption:1

Q.21Thecorrectrelationbetweenthemodulusofelasticity(E)andmodulusofrigidity (G)is:Given,p=
Poisson’sratio.
Ans  K1.G=2E(1+p) X

2.E=4G(1+})
¥ 3.E=2G(1+p)
5 4.G=4E(1+p)

QuestionlD:26433099946
Option1ID:264330392359
Option2ID:264330392358
Option3ID:264330392360
Option4lD:264330392357

Status:Answered
ChosenOption:3




Q.22Anairstandarddieselcycleworkingwithacompressionratioof 13andcutofftakesplacesat5%ofthes
trokevolume.Thevalueofcutoffratiowillbe

Ans  X1.2.3
*2.1.9
x3.1.3
P4.1.6

QuestionID:264330100536
Option1ID:264330394691
Option2ID:264330394690
Option3ID:264330394692
Option4ID:264330394689

Status:Answered
ChosenOption:4

Q.23lIfaturbineisworkingunderdifferentheads,thebehaviouroftheturbinecanbeeasilydetermin
edfromthevaluesof

Ans #1.bladeangles

4#2.unitquantities
#5 3.numberofvanes

X 4.sizeofrunner

QuestionlD:264330159160
Option1ID:264330623999
Option2ID:264330624002
Option3ID:264330624001
Option4ID:264330624000

Status:Answered
ChosenOption:2

Q.24 Intheshapingprocess,thecuttingtoolmoves

Ans X 1.inacircularmotion
2% 2.inaparabolicmotion
3 .inastraightline

< 4.inanellipticalmotion

QuestionID:264330157941
Option1ID:264330619125
Option2ID:264330619123
Option3ID:264330619126
Option4lD:264330619124

Status:Answered
ChosenOption:3




Ans

Ans

Q.25ThecyclicintegralofQ/Tforareversiblecycleisequaltozero.Thisstatementisknownas

ol

X1 .Clausiustheorem

xZ.Carnottheorem

x3. Rankinetheorem

4. theprincipleofCarathéodory

QuestionID:264330157560
Option1ID:264330617600
Option2ID:264330617599
Option3ID:264330617601
Option4lD:264330617602

Status:Answered

ChosenOption:1

Q.26SelectthecorrectstatementofLami’stheorem.

Ans x

1. Iftwoforcesareinequilibrium, theneachforceisdirectlyproportionaltosineoftheanglebetwee
nthem.

2. Ifthreeforcesarenotinequilibrium, theneachforceisinverselyproportionaltosineoftheanglebe
tweentheothertwoforces.

ol

3. Ifthreeforcesactingonabodyaresaidtobeinequilibrium, theneachforceisdirectlydepend

e%@nsineoftheanglebetweentheothertwoforces.

4. Ifthreeforcesarenon-
coplanar,theneachforceisdirectlydependentonsineoftheanglebetweentheothertwoforces.

QuestionlD:264330162519
Option1ID:264330637403
Option2ID:264330637404
Option3ID:264330637406

Option4lD:264330637405
Status:Answered
ChosenOption:3

Q.27Whichofthefollowingmillingoperationsisusedtoproduceafiatsurfaceparalleltotheaxisofrotation

ofthecutter?
<
X
1.Endmilling
2.Facemilling

3.Plainmilling

4.Profilemilling

QuestionlD:264330157946
Option1ID:264330619144
Option2ID:264330619143
Option3ID:264330619145
Option4lD:264330619146

Status:Answered
ChosenOption:3




Q.28ThepressureresponsiveelementintheBourdontubepressuregaugeismadeof
Ans " 1.bronze

5 2.Inconel
25 3.castiron

25 4.aluminium

QuestionlD:264330100870
Option1ID:264330396027
Option2ID:264330396028
Option3ID:264330396025
Option4ID:264330396026

Status:Answered
ChosenOption:2

\ 2

Q.29Whichimpellersaremorelikelytobecloggedifstringymaterialorsolidsarepumped?Ans 4

1. Closedimpeller

#52. Cannotbepredicted
25.3.Semi-openimpeller
254.0penimpeller

QuestionlD:26433096735
Option1ID:264330379679
Option2ID:264330379680
Option3ID:264330379677
Option4ID:264330379678

Status:Answered
ChosenOption:4

Q.30Whatisthefunctionofthetransferportinsidetheengine?Ans
1. Itistheportthroughwhichtheenginegetsthefuel.

252, It isthe portthrough whichscavenging ofthe gasestakes place.
#5 3. Itisusedtotransferunburntfueltotheexhaustport.

™. Itisusedtomovechargefromthecrankcasetothecylinderheadportion.

QuestionlD:264330158736
Option1ID:264330622303
Option2ID:264330622304
Option3ID:264330622306
Option4ID:264330622305

Status:Answered
ChosenOption:4




Q.31Thepointatwhichallthethreephases-solid,liquid,andvapourco-existinequilibriuminap-
Tdiagramisknownas .

Ans <
4#1.meltingpoint
/X 2.triplepoint

2% 3.criticalpoint

4.boilingpoint )

QuestionlD:26433095597
Option1ID:264330375172
Option2ID:264330375170
Option3ID:264330375169
Option4ID:264330375171

Status:Answered

ChosenOption:2
- |

Q.32WhichofthefollowingmachiningoperationsisNOTrelatedtoturning?Ans

#51.Externalthreading
o

~ 2.Shapin

x ping

--3. Boring

<

4. Facing

QuestionlD:264330157547
Option1ID:264330617549
Option2ID:264330617550
Option3ID:264330617548
Option4ID:264330617547

Status:Answered
ChosenOption:3

Q.33Forhydraulic turbines,the ratioof overall eficiencyand mechanicaleficiency iscalled

Ans 1 frictionalpower

o
2. hydraulicefficienc
x y y

~3-volumetricefficiency
X

4.cannotbepredicted

QuestionlD:26433096835
Option1ID:264330380079
Option2ID:264330380077
Option3ID:264330380078
Option4ID:264330380080

Status:Answered
ChosenOption:2




Q.34 TheMoltenmetalisusedin process
Ans r

27X 1.DeepDrawing

/5 2.Machining

#3.Forging

4.Casting

QuestionlD:264330100607
Option1ID:264330394975
Option2ID:264330394973
Option3ID:264330394976
Option4lD:264330394974

Status:Answered

Q.35Chqgsethecorrectmathematicalrelationofabsolutepressure.Ans
x 1.Pabs = Patm + Pguage
xZ.Pahs = Patm / Pgua,ge
x3.Pahs = Patm - Pg‘uage

4.Pabs = Patm + ZPguage

ChosenOption:4

QuestionlD:264330159146
Option1ID:264330623943
Option2ID:264330623945
Option3ID:264330623944
Option4lD:264330623946

Status:Answered
ChosenOption:1

Q.36Thepropertyoftoolmaterialtoretainitshardnessatelevatedtemperatureisknownas:Ans

ZX1.Plasticit
PA %
2. Elasticit
X Y

j.Toughness

4.Redhardness

QuestionlD:264330100618
Option1ID:264330395020
Option2ID:264330395019
Option3ID:264330395018
Option4ID:264330395017

Status:Answered
ChosenOption:4




Q.37Apiezometerisconnectedtoapointinapipetomeasurethepressureofwaterfiowingthroughit.If
thepiezometerreads0.4m,whatwillbethegaugepressureatthatpoint?Takeatmosphericpre

ssure=101325pascalsandg=1 om/s2.
Ans #51.97325pascals

252.40kilopascals
4#3.4000pascals
25 4.105325pascals

QuestionlD:264330100875
Option1ID:264330396047
Option2ID:264330396048
Option3ID:264330396046
Option4ID:264330396045

Status:Answered
ChosenOption:3

Q.38Thedimensionalformulaofspecificgravityisgivenby:
A o1 MOLOT0

x2MALATY

x>MIL3T12

x4 MIlL3T0

QuestionlD:264330159132
Option1ID:264330623887
Option2ID:264330623890
Option3ID:264330623888
Option4ID:264330623889

Status:Answered
ChosenOption:1

Q.39Whatisthehydraulicradiusforacircularpiperunningfull?Ans
#$1.0.75d

&#2.0.25d
X34

4.0.5d

QuestionlD:26433099966
Option1ID:264330392439
Option2ID:264330392437
Option3ID:264330392440
Option4lD:264330392438

Status:Answered
ChosenOption:4




Q.40 Themassofwaterevaporatedperunitmassoffuelburntistermedas steam

boilers.
Ans  X1.boilerefficiencyof

#52. equivalentevaporationin
«# 3. actualevaporationin

25 4.boilerperformanceof

QuestionlD:264330159956
Option1ID:264330627173
Option2ID:264330627172
Option3ID:264330627171
Option4lD:264330627174

Status:Answered
ChosenOption:2

Q.41Which of the following statements is true for a throttling
process?Ans #51.ltisanisothermalprocess.

#52.1t is an isentropic process.
«#3. Itis aconstant enthalpyprocess.

5 4.Itisareversibleprocess.

QuestionlD:26433096753
Option1ID:264330379752
Option2ID:264330379751
Option3ID:264330379750
Option4lD:264330379749

Status:Answered
ChosenOption:3

Q.42A heat engine operates between a source at 600 K and a sink at 300 K. What is
themaximum possible eficiency of the engine according to the Kelvin-Planckstatement of

thesecondlawofthermodynamics?
Ans  X1.33.3%

X2, 67%
X3. 25%
4. 50%

QuestionlD:264330157935
Option1ID:264330619100
Option2ID:264330619102
Option3ID:264330619099
Option4ID:264330619101

Status:Answered
ChosenOption:4




Q.43Theairpre-heaterincreasesthetemperatureof beforeit/theyenter(s)the
furnace.

Ans 1. fuel
25 2. fluegases
75 3.feedwater

o 4.air

QuestionID:264330159936
Option1ID:264330627093
Option2ID:264330627094
Option3ID:264330627092
Option4ID:264330627091

Status:Answered
ChosenOption:4

Q.44Thepositionofcentreofpressuredependsonwhichofthefollowing? Ans
25 1.Velocityofliquid

75 2. Weightoftheobjectimmersedinliquid
253, Surface tension offluid

" 4. Locationofobjectfromthefreesurface

QuestionlD:264330159149
Option1ID:264330623957
Option2ID:264330623956
Option3ID:264330623955
Option4lD:264330623958

Status:Answered
ChosenOption:4

Q.45WhichofthefollowingstatementsisSINCORRECT?

Ans <1 .Thevalueofdrynessfractionis1forsaturatedsteamcondition.
25 2.ThevalueofdrynessfractionisOforsaturatedwatercondition.
25 3.ThevalueofdrynessfractionalwaysliesbetweenOand1.

" 4.Thevalueofdrynessfractionisgreaterthan1forsuperheatedsteamcondition.

QuestionlD:26433099977
Option1ID:264330392481
Option2ID:264330392482
Option3ID:264330392484
Option4ID:264330392483

Status:Answered
ChosenOption:4




Q.46Aseamlesspipehavingadiameterof600mmandthicknessof9mm,containthefluidunderapres
sureof4MPa,findthelongitudinalstressdevelopedinthepipe.

Ans x
X 1.77.7Mpa
25 2.88.8Mpa

3.133.3Mpa

«74.66.6Mpa

QuestionlD:26433096685
Option1ID:264330379479
Option2ID:264330379480
Option3ID:264330379478
Option4ID:264330379477

Status:Answered

Q.47In an ammonia vapour compression system, the pressure inthe evaporator is 2
bar.Ammonia at exit is 0.85 dry and at entry its dryness fraction is 0.19. During
compression,theworkdoneperkgofammoniais150kJ. Thelatentheatandspecificvolumeat2bara

rel 325kJ/kgand0.58m3/kg,respectively.WhatwillbeitsC.O.P?
Ans  4#1.5.83

x2.3.82
73.6.74
X4.434

ChosenOption:4

QuestionlD:264330157200
Option1ID:264330616166
Option2ID:264330616163
Option3ID:264330616165
Option4lD:264330616164

Status:Answered

Q.48WhichthermodynamicpropertyofsteamdoesNOTchangeinthrottlingcalorimeter?Ans X
1. Entropy
4

2. Enthalpy

~
.3-Temperature
<

4.Pressure

ChosenUption:so

QuestionlD:26433095600
Option1ID:264330375181
Option2ID:264330375183
Option3ID:264330375184
Option4ID:264330375182

Status:Answered
ChosenOption:2




Q.49Choosethecorrectoptionrelatedtolatheturningoperation.Ans

X 1.Toolwillrotate
25 2.Bothtoolandworkpiecewillnotrotate
75 3.Bothtoolandworkpiecewillrotate

¥ 4.Workpiecewillrotate

QuestionID:264330100629
Option1ID:264330395061
Option2ID:264330395064
Option3ID:264330395063
Option4ID:264330395062

Status:Answered
ChosenOption:4

Q.50Francisturbineisasexampleof:
Ans  K1.radialflowturbine

/5 2. axialflowturbine
" 3. mixedflowturbine

K 4.impulseturbine

QuestionlD:264330159167
Option1ID:264330624028
Option2ID:264330624029
Option3ID:264330624030
Option4ID:264330624027

Status:Answered
ChosenOption:1

Q.51Thebehaviourofamaterialatdifferentstagesofloadingisrepresentedbyadiagramcalledthe
diagram.

Ans & 1.stressstrain
25 2. hysteresis
£ 3. circumferentialstress

25 4.ironcarbon

QuestionlD:26433099948
Option1ID:264330392366
Option2ID:264330392365
Option3ID:264330392368
Option4ID:264330392367

Status:Answered
ChosenOption:4




Ans

onandreductionintheareaareimprovedin

#1.Joining
/X 2.Coldworking
43 .Hot working

Q.52Duetotherefinementofgrains, mechanicalpropertiessuchastoughness,ductility,elongati

process

ChosenOption:

25 4.Forming
QuestionID: 264330100610
Option1ID: 264330394987
Option2ID: 264330394986
Option3ID: 264330394985
Option4ID: 264330394988
Status: Answered
ChosenOption: 3
Q.53Theenthalpyofwaterisconsideredas‘zero’at
Ans  XK1.37°C
252.100°C
#3.0.01°C
X4.4°C
QuestionID: 26433099980
Option1ID: 264330392496
Option2ID: 264330392495
Option3ID: 264330392493
Option4ID: 264330392494
Status: Answered
ChosenOption: 2
Q.54 Naturaldraftcoolingtowersarealsoknownas
Ans  X1.mechanicaldraftcoolingtowers
/< 2.artificialcoolingtowers
4# 3.atmosphericcoolingtowers
/X 4.automaticspraycoolingtowers
QuestionID: 26433096779
Option1ID: 264330379855
Option2ID: 264330379853
Option3ID: 264330379854
Option4ID: 264330379856
Status: Answered

3




Q.55Inanl.C.engine,whentheprimarycircuitinthecoilignitionsystembreaks, thevoltageproduced
acrossthesecondaryterminalisintherangeof .

Ans  X'1.80Vto120V
+#2.8000Vto12,000V

#<3.800Vto1200V
4% 4.2000Vt05000V

QuestionlD:264330158720
Option1ID:264330622239
Option2ID:264330622241
Option3ID:264330622240
Option4lD:264330622242

Status:Answered
ChosenOption:2

Q.56lfthemechanicalefiiciencyandhydrauliceficiencyofaturbineare60%and70%,respectively,th
enwhatwillbetheoverallefiiciencyoftheturbine?

Ans  X1.70%
2. 42%
x3. 60%
X 4. 65%

QuestionlD:264330159267
Option1ID:264330624429
Option2ID:264330624427
Option3ID:264330624428
Option4ID:264330624430

Status:Answered
ChosenOption:2

Q.57Acentrifugalpumpisrunningatthespeedof1000rpmagainstaheadof40m.[fitsspeedischangedt
03000rpm,thenitwillworkagainstaheadof:

Ans  #51.120m
2<2.80m
+3.360m

X 4.40m

QuestionlD:264330159206
Option1ID:264330624185
Option2ID:264330624184
Option3ID:264330624186
Option4lD:264330624183

Status:Answered
ChosenOption:3




Q.58Whichofthefollowingstatementsiscorrectforcompressibility?Ans «#*
1. Compressibilityisreciprocalofbulkmodulus

25 2.Compressibilityissquareofbulkmodulus
/X 3. Compressibilityissquarerootofbulkmodulus

75 4. Compressibilityisequaltobulkmodulus

QuestionlD:264330159128
Option1ID:264330623872
Option2ID:264330623871
Option3ID:264330623874
Option4ID:264330623873

Status:Answered
ChosenOption:1

Q.59Whichofthefollowingisawater-tubeboiler?Ans
#1.Cornishboiler

#%2.Lancashireboiler
25 3.Cochranboiler

«" 4.Babcock&Wilcoxboiler

QuestionlD:264330159931
Option1ID:264330627072
Option2ID:264330627073
Option3ID:264330627071
Option4ID:264330627074

Status:Answered
ChosenOption:4

Q.60Whatwillbetheabsolutepressure(approximately)atapoint3mbelowthefreesurfaceofa liquid

having a density of 1530 kg/m3, if the atmospheric pressure is equivalent to 750mm of
mercury? (The specific gravity of mercury is 13.6 and density of water is

1000kg/m3,g=9.81m/sec?)
Ans  X1.1,00,250N/m?

22.95,648N/m?
«3.1,45,090N/m?
7<4.78,560N/m?

QuestionlD:264330159252
Option1ID:264330624367
Option2ID:264330624370
Option3ID:264330624369
Option4ID:264330624368

Status:Answered
ChosenOption:3




Q.61 Thepressureattheinletofarefrigerantcompressoriscalled

Ans  X1.backpressure
25 2.criticalpressure
& 3.suctionpressure

X'4.dischargepressure

Q.63 Thefunctionofcondenserinrefrigerationcoolingsystemis

Ans " 1.torejectheatoutofthesystem
#5 2.toconvertliquidrefrigerantintovapourrefrigerant
/X 3.togiveheatintothesystem

/X 4.togiveexternalworktothesystem

ChosenOption:

QuestionID: 264330157187
Option1ID: 264330616114
Option2ID: 264330616113
Option3ID: 264330616111
Option4ID: 264330616112
Status: Answered
ChosenOption: 1
Q.621fQqistheheatrejectedtothesourceandQoistheheatextractedfromthesink,thecoefficientof
performance(COP)ofaheatpumpisgivenby _
Ans
Q,
A =
Q1 - Qz
x2. Q1 - Qz
Q,
x3. L
Q; —Q;
o W Q
Q.
QuestionID: 26433099995
Option1ID: 264330392554
Option2ID: 264330392555
Option3ID: 264330392553
Option4ID: 264330392556
Status: Answered

1

QuestionID:
Option1ID:
Option2ID:
Option3ID:
Option4ID:

Status:
ChosenOption:

26433096805
264330379958
264330379960
264330379957
264330379959
Answered

1




Q.64Forinternallaminarfiow,thevariationofshearstressintheradialdirectionis:

Ans X 1.exponential
«#2. linear
253.hyperbolic
25 4.parabolic

QuestionID:264330159099
Option1ID:264330623758
Option2ID:264330623757
Option3ID:264330623756
Option4lD:264330623755

Status:Answered
ChosenOption:2

Q.65Anengineisworkingwithtemperaturelimitsof29°Cand229°C.ltreceives 1000kWandrejects42
9kWofheat.Possiblecycleexecutedbytheengineis

Ans 4
7<1.Impossiblecycle
XZ. Reversiblecycle
X3 Carnotcycle

4.1rreversiblecycle

QuestionlD:264330100573
Option1ID:264330394839
Option2ID:264330394837
Option3ID:264330394838
Option4lD:264330394840

Status:Answered
ChosenOption: 1




Ans

Ans

Ans

Steam Inlet

# 1.Steamstopvalve
X 2.Feedcheckvalve
X 3.Blow-offcock
5 4.Safetyvalve

Q.67 Thevalueofatmosphericpressureinbaris

o 1.1.01325
72.1.5643
73.2.01324
74.0.9874

Q.68 Theflowthroughacapillarytubeisanexampleof

# 1.laminar

X 2.transition

#5 3.compressible
< 4.turbulent

flow.

Q.66 Following figure shows which of the following parts of a steam generator?

QuestionID: 264330100124
Option1ID: 264330393071
Option2ID: 264330393070
Option3ID: 264330393072
Option4ID: 264330393069

Status: Answered
ChosenOption: 1

QuestionID: 264330159147
Option1ID: 264330623949
Option2ID: 264330623948
Option3ID: 264330623947
Option4ID: 264330623950

Status: Answered
ChosenOption: 1

QuestionID: 264330159125
Option1ID: 264330623859
Option2ID: 264330623861
Option3ID: 264330623862
Option4ID: 264330623860

Status: Answered
ChosenOption: 1




Q.69Findtheenthalpyof1kgofdryandsaturatedsteamat0barifsensibleheatat10baris
762.8 kJ/kg and latent heat of evaporation at 10 bar is 2015.3

kJ/kg.Ans %1.762.8kJ
2.2778.1k/
23.1252.5k)
7<4.2015.3kJ

QuestionID:26433095596
Option1ID:264330375167
Option2ID:264330375166
Option3ID:264330375165
Option4ID:264330375168

Status:NotAnswered
ChosenOption:--

Q.70Theratiooftheenergyreceivedbythesteamtotheenergysuppliedbythefueltoproducesteaminas
teamboilerisknownas .

Ans " 1.boilerefficiency

#52.equivalentevaporation
/X 3.actualevaporation

X 4.boilerhorsepower

QuestionlD:264330159958
Option1ID:264330627181
Option2ID:264330627180
Option3ID:264330627179
Option4ID:264330627182

Status:Answered
ChosenOption:1

Q.71Whichofthefollowingisthecorrectstatementrelatingtothecentreofpressureonanimmerseds
urface?

Ans  X1.ltisthepointwherethenormalpressureacts.
o 2.Itisthepointwheretheresultantpressureacts.
#53.Itisthepointwheretheweightofbodytheacts.

X 4.1tisthepointwheretheweightofthebodyandresultantpressureacts.

QuestionlD:264330159148
Option1ID:264330623951
Option2ID:264330623954
Option3ID:264330623952
Option4ID:264330623953

Status:Answered
ChosenOption:2




Q.72Vapourpressureisprimarilyassociatedwithwhichphenomenon? Ans
251.Surging
25 2.Waterhammering
#3.Cavitation

/< 4.Capillarity

QuestionlD:264330159245
Option1ID:264330624340
Option2ID:264330624339
Option3ID:264330624342
Option4ID:264330624341

Status:Answered
ChosenOption:3

Q.73Pressureheadofafiuidrepresents:

Ans  X1.energyperunitvolume
#52. energy per unit mass
«# 3. energyperunitweight

75 4.energyperunitlength

QuestionlD:26433096575
Option1ID:264330379038
Option2ID:264330379039
Option3ID:264330379037
Option4ID:264330379040

Status:Answered
ChosenOption:1

Q.74In a steam boiler, the actual evaporation is 8 kg of steam per kg of fuel burnt. The
heatsupplied perkgofwateris 2500kJ/kg.Highercalorificvalue offuelis25,000kJ/kg.
Whatistheboilereficiency?

Ans  X1.0.75
X2.0.25
+3.0.80
#4.0.10

QuestionlD:264330159959
Option1ID:264330627183
Option2ID:264330627185
Option3ID:264330627184
Option4ID:264330627186

Status:Answered
ChosenOption:3




Q.75Theenergylosscausedbyabruptenlargementisexpressedby:

Ans 2
o (V1_V2)

Ve
2. (v‘;vz)z
(5

Q.76Inamechanicaldraughtsystem,draughtisproducedbya

QuestionID:
Option1ID:
Option2ID:
Option3ID:
Option4ID:

Status:
ChosenOption:

26433095670
264330375461
264330375463
264330375464
264330375462
Answered

1

Ans  X1.chaingratestoker
25 2.chimney
«# 3.blower

5 4.pump

QuestionlD:
Option1ID:
Option2ID:
Option3ID:
Option4ID:

Status:
ChosenOption:

264330100119
264330393049
264330393052
264330393050
264330393051
Answered

3




Q77 A body of weight 100 N is lying on a rough horizontal surface, and the horizontal

force of 50 N is applied on the body as shown in the figure, which is just enough to

move the body. What will be the coefficient of friction?

100N [—> 50N

L W b o £ FE

#5 2. pressuredifference
25 3. massdifference

X 4. temperaturedifference

Ans 1.0.54
K 2.0.6
& 3.0.3
5 4.04
QuestionID:26433096668
Option11D:264330379410
Option2ID:264330379412
Option31D:264330379409
Option4ID:264330379411
Status:Answered
ChosenOption:1
Q.78 Thefrictionalresistanceinaturbulentfiowisindependentofthe
Ans  1.surfaceroughness X
o 2. pressure
X 3. densityoffluid
25 4. velocityoffluid
QuestionlD:264330100881
Option11D:264330396071
Option2ID:264330396072
Option31D:264330396070
Option4ID:264330396069
Status:Answered
ChosenOption:2
Q.79 In thethermodynamicsystem,theprimarydrivingforceformasstransferis
Ans 1.concentrationdifference«#*

QuestionlD:264330157561

Option11D:264330617605
Option2ID:264330617603
Option3ID:264330617604
Option4lD:264330617606
Status:Answered

ChosenOption:3
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Q.80Whichofthefollowingstatementsiscorrectaboutaworkingengine?

Ans o

1. Operationoftheflywheeliscontinuous,whereasoperationofthegovernorismoreorlessintermitte nt.

2. Operationofboththeflywheelandthegovernorisintermittent.

3.0perationofboththeflywheelandthegovernoriscontinuous.
X
<
4.0perationofthegovernoriscontinuous, whereasoperationoftheflywheelismoreorlessintermitt
ent.

QuestionlD:26433099799
Option1ID:264330391793
Option2ID:264330391795
Option3ID:264330391794
Option4ID:264330391796

Status:Answered

\ ('hncnnﬂ'r_\l'inn'1

Q.81Understeadystateoperationofaconeclutch,ifsemi-coneangle(x)decreasesthen
Ans <
75 1.thetorqueproducedbyclutchdecreases

+#2.doesnotaffecttheaxialforce

75 3.thetorqueproducedbyclutchincreases

4.theaxialforceincreases

QuestionID:26433091064
Option11D:264330357665
Option2ID:264330357668
Option3ID:264330357666
Option4ID:264330357667

Status:NotAnswered
ChosenOption:--

Q.82 An oil of specific gravity 0.8 is flowing through a pipe. A differential manometer
isconnectedatthetwopoints,sayAandB,andshowsadifferenceinthemercurylevelas20cm.Wha
twillbethedifferencebetweenthepressuresatthetwopoints?

Takedensityofmercury=13600kg/m3andg=10m/sz.
Ans  X'1.1280kN/m?
&
o 2.25.6kN/m?
~
3. 25.6 N/m?

<

4.2560N/m?

QuestionID:264330100871
Option1ID:264330396029
Option2ID:264330396032
Option3ID:264330396030
Option4ID:264330396031

Status:Answered
ChosenOption:2




Q.83Flowprocessisusedforwhichofthefollowingsystems?Ans
251.Closedsystem

75 2.Bothopenandclosedsystems

#3.0pensystem
5 4.Isolatedsystem

1. Centrifugalpump

75 2.Thermostat

/X 3.Fan
¥ 4.Condenser

absolutetemperature. Thislawisknownas

Ans x
X 1. Joule'slaw
«#2.Boyle'slaw
25 3.Charleslaw

4.Avogadro'slaw

Q.84WhichofthefollowingisNOTacomponentofthewater-coolingsystemwithradiator?Ans

QuestionlD:264330157530
Option1ID:264330617480
Option2ID:264330617482
Option3ID:264330617479
Option4ID:264330617481

Status:Answered
ChosenOption:3

<

QuestionlD:264330160201
Option1ID:264330628144
Option2ID:264330628143
Option3ID:264330628145
Option4lD:264330628146

Status:Answered
ChosenOption:4

Q.85Whenanygasisheatedatconstantpressure,itschangeinvolumevariesdirectlywithchangein

QuestionID:26433095631
Option1ID:264330375308
Option2ID:264330375305
Option3ID:264330375306
Option4lD:264330375307

Status:Answered
ChosenOption:3




Q.86Whichofthefollowingair-

cooledcondensersareusedonlyinsmallcapacityapplicationssuchasdomesticrefrigeratorsand
roomairconditioners?

Ans «#1.Naturalconvectionair-
7% cooledcondensers

XZ.Shellandcoilcondensers

X3' Remoteair-cooledcondensers

4. Basemountedair-cooledcondensers

QuestionID:264330157221
Option11D:264330616247
Option2ID:264330616249
Option3ID:264330616248
Option4ID:264330616250

Status:Answered

ChosenOBtionﬂ

Q.87Arectifierisfittedinanammoniaabsorptionplantto:

Ans XX

1.onlyremovetheunwantedwatervapourbycoolingthevapourmixture

2.removetheunwantedwatervapourbyheatingthevapourmixture

3. removetheunwantedwatervapourbycoolingthevapourmixtureandcondensingthewatervap our )

4. superheatammoniavapour

QuestionlD:264330157251
Option1ID:264330616369
Option2ID:264330616367
Option3ID:264330616370

ﬁpHnnAln-’)RA’lQnR1 6368 y,

Status:Answered

ChosenOEtion:Z
Q.88 Inasteamboiler,aneconomiserisusedforheatingof

Ans Xx

3. feedwater

4. fluegases

QuestionlD:264330159938
Option1ID:264330627099
Option2ID:264330627101
Option3ID:264330627100
Option4ID:264330627102

Status:Answered

\ ChosenOption:3 J
Ld




Q.89WhichofthefollowingdoesNOTdescribetheDieselcycle?Ans
251.Highcompressionratio

25 2.Limitedmaximumtemperature
#53.Nosparkplugneeded

¥ 4.Constantvolumeheataddition

QuestionID:264330160302
Option1ID:264330628548
Option2ID:264330628549
Option3ID:264330628550
Option4ID:264330628547

Status:Answered
ChosenOption:4

Q.90TheEnergyGradientlinewill .

Ans <
4#1.liebelowtheHydraulicGradientline
75 2.lieabovetheHydraulicGradientline

/% 3.coincidewithHydraulicGradientline

4.coincidewithpipeaxis

QuestionlD:26433095674
Option1ID:264330375478
Option2ID:264330375477
Option3ID:264330375479
Option4lD:264330375480

Status:Answered

ChosenOption:2

Q.91Inalubricationmethod,theoiliskeptinthecrankcasesumpanditissplashedbyusingtheendofaconn
ectingrodtovariouscomponentsoftheengine. Thismethodiscalled .

Ans  #51.sumplubrication
" P
a4~ 2.5plashlubrication
x P
+3.pumplubrication
x pump

4.pressurelubrication

QuestionlD:264330158724
Option1ID:264330622255
Option2ID:264330622257
Option3ID:264330622258
Option4ID:264330622256

Status:Answered
ChosenOption:2




Ans

Q.92 Themassflowissameatinletandoutletincaseof

5 2. Welding

3. Upsetting
X 4.Casting

%" 1.lowC.0.P
#52.decreaseinrefrigerationeffect
#53.highC.0.P

25 4.decreaseinrefrigerationcapacity

Ans  X1.isolatedsystem
X 2. non-steadyflowprocess
75 3. closedsystem
" 4.steadyflowprocess
QuestionID:26433095642
Option1ID:264330375351
Option2ID:264330375349
Option3ID:264330375352
Option4ID:264330375350
Status:Answered
ChosenOption:3
Q.93 isametalworkingprocesswhichisanexampleofforging.
Ans  &K1.Extrusion

\

QuestionlD:264330157911
Option1ID:264330619003
Option2ID:264330619005
Option3ID:264330619006
Option4ID:264330619004

Status:Answered
ChosenOption:3

Q.94Theneteffectofsuperheatingaftercompressioninvapourcompressionrefrigerationcycle istohave

QuestionID:264330157257
Option1ID:264330616391
Option2ID:264330616393
Option3ID:264330616392
Option4lD:264330616394

Status:Answered
ChosenOption: 1




Q.95Whichofthefollowingstatementsistrueaboutafour-strokeengineincomparisontoatwo-
strokeengine?

Ans  &1.0wingtoonepowerstrokeintworevolutions,alighterflywheelisrequired.
/X 2. Afour-strokeengineonlyusesthedieselcycle, whileatwo-
strokeengineonlyusestheOttocycle.

«# 3. Thermalefficiencyandpart-loadefficiencyofafour-
strokeenginearebetterthanthoseofatwo-strokeengine.

X 4. Volumetricefficiencyofafour-strokeengineiscomparativelylow,duetolesspoweroutput.

QuestiontD:264330158742
Option1ID:264330622327
Option2ID:264330622330
Option3ID:264330622329
Option4ID:264330622328

Status:Answered
ChosenOption:3

Q.96Theduplexfeedpumpis:
Ans X 1.Centrifugalpump

«#2.Double-actingreciprocatingpump
/5 3. Axial-flowpump

X 4. Single-actingreciprocatingpump

QuestionlD:264330159940
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Q.97WhichofthefollowingisNOTatypeofwetsumplubricationsystem?Ans
#1.Splashlubricationsystem

#52.Pumplubricationsystem
3. Mistlubricatingsystem

25 4.Pressu relubricationsystem
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Q.98Whatwillbethemassdensityofonelitreofafiuidwhichweighs9.8 IN?(Takeg=9.81 m/secz)
Ans  1.1000gm/cm® X

&#2.1000kg/m>
2$3.100gm/cm?
X 4.100kg/m?

QuestionlD:26433096272
Option1ID:264330377838
Option2ID:264330377840
Option3ID:264330377839
Option4ID:264330377837

Status:Answered
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Q.99Whichturbineissuitablewherealargedischargeatlowheadisavailable?Ans
1.Kaplanturbine «#
/X 2. Turgoturbine

#53. Peltonturbine

#5 4. Francisturbine
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Q.100Whichoffollowinglossesfallintothecategoryofmajorlosses?Ans

1.Headlossduetosuddenenlargement &X'
#52.Headlossduetosuddencontraction
75 3. Headloss dueto bendofpipe

4" 4. Headlossduetofriction
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